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1.8 SiCOOOO0OO
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1.8.2 JUOOUOOOOOOODOO MSE : Metastable Solvent
Epitaxyl

00000000000 (MSE : Metastable Solvent Epitaxy)[?] 000000
gooboooooboogobogsSsicobooobooooog??0 MSEDOODO
OO00OOMSEOODTaCOODOODOOODOODOOSICOODODOODOODO
ooogSsicoooooboboboboobooboobooboooooooobooDo
0000000000000 000000MSEOOOOOO (feed) O 3C-SiCO
O00000004H-SiICOODO0OODOOOOO0O0O (seed)JO0OD0DODOO SiC
O00O000bO00b0O0bO0 wobOoobooboOooboobogsSicon sibo
gboobooboboboboocooboooooooboobobobobobOoo
gbbodboobbodbeyemddbobgobooobboobbbooboo
ggboobouoodgaooo
OLlyOODODOOOOODOODOOODOOOODOOOMSEOODDODOO
ooooooooooo??oooooMSEDOOODOOOOODOObOOODO
O000obOo0oOo0obOOoO0obOooOoboooobooSibcooboobooooDo
oooobocooboboobouoobooobboobooboooooobD oD
O0000000004H-SiICO00000000000000O0???(a)00000
gbobo4Hb0b00o0obooooboobobboobooboboobobo
gO00s3coobobobooboobobooo3Ccbo44Hb00bO0bODOonDOn
O000000ooooo0ooooooooooo?p)0ooOoooosc-sicod
4H-SiCO0 000000000000 DOO000bObOoooooOooboboogn Sic
gogobbobbudgepbboooobbbbbouoooobbbboooooon
0000000000000 0??Mh) 0000000 3C00 ueOO04HO peO
gggbbbbouooooobbbbbodooooobboboooooon
O00oO0bOobooobOobO0obUo4H0DbO0OO0ODOOD4HE-SICOODOODODO
Ooo4H-SsiCcO0O0000 chogbooboooobooobooo coboonoooonn
O000o0O000oO0OcCcoOooooooooo??(cpD00b0OOOODOOOOOO
Ssil0O coopoo4p-siCOO0bnOoOooooooposcsiCcooooonoonooog
oooooooMSEOOOODOOOODODbDOO

25



TaC crucible

% mmy

3C-SiC

7| Liquid Si

solvent
Grown

Crystal

Source
Material

4H-SiC

=

0 128 MSEOOOOSiCOOODOOOODOOO

26



SiC
Sip, — Sig + SiCyy
_____ Si, — Sig + SiCsc
(b) C# |C3® C #8
| ac
- He
=
N
H
H
& 1111

\ )
/ C #EaL e

(oF 2157

(c) BHRIR
3C-SiC(S#E&)

Si B

B
4H-SIC( HiE=E)

52 180 FR A

0129 MSEOOOOODOOOODOOOODOOODOOOODOOODOOOD
0000000 CO000O00CO0000oo0O(a)0004H, 000 3CO
Ooo0ooOo@®mS-coo0000D0fuobo(e)D00boOooDOooOoO

27
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2.1 OO0O0O0O0OO
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O00000000DFET : Density Functional TheoryO [?] 0000000000
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o000 AFODO0ODO0O0ODOODOOObDO0ODOODDbDObDUOODbObDbOODbO
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2.7 JUooognd
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E.cln] = /emc(n(r))n(r)dr (2.11)
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2.8 VASP(Vienna Ab-initio Simulation Package)
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2.8.1 INCAR

INCARO VASPOUOOUOOOOOOUOUOOOOOOOO VASPOOOOOO
0000000000000 00 INCAROOOODOoOoOOooooooogooo-
googoogpooooooobogoooogoooooouoogooogoog
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- INCAR ™

# SCF input for VASP
# Note that VASP uses the FIRST occurence of a keyword
SYSTEM = Diamond-Si_unitcell_fix_toga

PREC
ENCUT
IBRION
NSW
ISIF
ALGO
NELM
NELMIN
EDIFF
EDIFFG
VOSKOWN
NBLOCK
ISPIN
INIWAV
ISTART
ICHARG
LWAVE
LCHARG
ADDGRID
ISMEAR =1
SIGMA = 0.2
LREAL .FALSE.
RWIGS = 1.11

Accurate

1000

2

100

3

Normal (blocked Davidson)
60

2

1.0e-05

-0.01

NO P, R~ =

.FALSE.
.FALSE.
.FALSE.
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PREC 00000000 0O0OOO0O0OO0OO0OOODOOOOOOOD Low/Medium/Normal/Accurate
00000000 Normald Accurate 0 VASP45000 ver. OO OQOOOOO
000000000000 000000 Accurate0 D00 Q0QoQooonQ

ENCUT OO0O00OOO0O0OO0ODOO0ODOODOODOODOODOODbODOO
00000000000 Cutoff EnergyD0 0000000000 O0ODODOO [eV]O
000000000000 INCAROOOOOO OO Cutoff Energy O 1000[eV] O
gogobbbobbodooooobobobobboodoooooboboobboooood
gogbooodg

NBANDS O0000O00O0OO0O0OO0OOODODODODODODObOOOOOOOOO
ggbbbobbuoooooobbbbboduooodoobbbbboooooon
gogobbobobboouooooobbobbouoooooboboboboodgo
OoO0bOoOOOo0OoooDooOoOooovASPOOOOOOODOD OUTCARO
0000000000000 00ooO0oo0DoD OUTCARODODODOODODOO
gogbbbuoooobbobbboooobbbuoooobbboooon

IBRION 0O0000O0OrelaxODO0O0OO0O0OO0OOO0ODOOOOOO??0 IBRIONDO

gob0o0oooboooooooboboo0oobOooobooobobooobbOOoODofx
O0000ooooboOIBRION=10000000O

0 22 IBRIONOODODODODOOOOoOOOO

IBRIONODOODO O0OOO00OO

IBRIOM = 0 000000 (MD : molecular dynamics)
IBRIOM =1 0000000 (quasi-Newton)

IBRIOM = 2 00000 (conjugate-gradient)

IBRIOM = 3 gogdd

IBRIOM = -1 0000000 fx0OO0O0O
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ISIF ODO0000bO0o0b0oooooooobooooobogbbforcebdn
gogobobobobbougoooobbobobboouooooobboboboougd
gggbobbbbbouodoooooobobbbbbobbbooooooooobn
goboooogd

ggboboobogogboo

000 IBRION = 2, ISIF = 2
0000000000000 oobD ullrelaxOD 0000000000
goobod

000 IBRION = 2, ISIF = 3

0 2.3: ISIF(007)000000

ISIF | calculate calsulate relax change change
force stress tensor ions  cell shape cell volume
0 yes no yes no no
1 yes trace only yes no no
2 yes yes yes no no
3 yes yes yes yes yes
4 yes yes yes yes no
) yes yes no yes no
6 yes yes no yes yes
7 yes yes no no yes

NSW [fJoobooboboboobobobobobobobobooboobo
ooboooobooobbooboboooobooooboooboooogoNSW=1000
gogbbooogobbboilcotoobobobooooboboooobbbooonbo
gogbbobuoooobbbooobbobooologoobboooobbboo
gogbboboooobbboooobobuoooobobbooooobooo
0fix(OOOOO0OO0)000oooooONSW=000O0O0O0O0O0OOOoooooo
fixOOO NSW=1000OO0OO0OODOO fixO0O0 10000000 oobooo
goon

NELM 0O0??0000000000000000DO00DOO0ODOObOObOODbOOn
0000000000000 0O00DOOoOooNSWOOODOOoDOOooooooo
gdoddoooooooooooooboobooboobobobbobbbbbooon
(default=600
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NELMIN (0O000O0OO0O0OO0OO0OO0OO0OO0OOO0O0O0O0O0OO0OO0O0O0O0O0O0O0O0UO0OONELM
O00000000000000DOO (default=20

ISMEAR OU0O00O0O0OO0OO0OOOOOOODO0ODOObOODbOObDOObDOo
O0O0000bD0-10000000001000 Methfessel-Paxton DO OO OO
gogoooobbbobbotbodooooooo1o200bbbobobooooogo
000000000000 (default=1)

EDIFF 000000000000000000000000000000000
0000000000000000000000000000000 EDIFFOO
000000000000000000000000000000000000
00000000000000 (default=10"4)

2.8.2 POSCAR

POSCARDODOODO0000D0O0O000000000000000000
00000000000 4H-SiC0 POSCAROOO0OPOSCAROOOOOOD
00000000000000000000000000 (Primitive Vector)D O
D00000000000000000000000000
- POSCAR ~
4H-8iC

1.00000000000000

3.0935700000000000 0.0000000000000000

0.0000000000000000
-1.5467850000000000 2.6791102083854259

0.0000000000000000
0.0000000000000000 0.0000000000000000

10.1287000000000000

4 4
Direct
0.0000000000000000 0.0000000000000000 0.0000000000000000
0.0000000000000000 0.0000000000000000 0.5000000000000000
0.3333333333333333 0.6666666666666667 0.2500000000000000
0.6666666666666667 0.3333333333333333 0.7500000000000000
0.0000000000000000 0.0000000000000000 0.1874200000000000
0.0000000000000000 0.0000000000000000 0.6874200000000000
0.3333333333333333 0.6666666666666667 0.4374200000000000
0.6666666666666667 0.3333333333333333 0.9374200000000000
N J

OO0O0OPOSCARODOOOODOODOODODOOOO

gogbobooogobon
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s gbooobodag ~

4H-SiC
1.00000000000000
3.0935700000000000 0.0000000000000000

0.0000000000000000
-1.5467850000000000 2.6791102083854259

0.0000000000000000
0.0000000000000000 0.0000000000000000

10.1287000000000000

N J
oco0000000000000000000O0O0O0COcOoOooOooOOOOO0O0OO
0000000000000 11000000000 o05000000000 ab,cO
0000 0500000000000000000 Primitive Vector OO0 0.50
0000

O0000000000000000000000 Primitive VectorD O OOO0O
OabcO000O0O0O0O0OOOOO

4H-S5iCOO0O0O0O0O0O

a:b:c=3.09357: 3.09357 : 10.1287 [Angst.]

a:f:y=90:90: 120 O]

gobbobooogbbodd

gboodgog

Direct

gogobbbbbbuooooobobbbbbouoooooobbbbboadao
gosidbobocobobobobobobobobobobOobOoboboo
gbooboobdob4 4000 80000000OL0O0O0DLODLO0ODLODOODLOO0
4 40000000S0OO0OO0OO0COODODOODOOODOODOODOOODOO
Sid s00pPO0O0OODOOODOOODOS 100001 sHO00D0O0ODOODO
000000000 POTCARODOOOOODODOOOODOOOODOODODO
OOooooooooooogopbPOTCARODOOSIDOOOOOOOPODOOOO
ggbobuoooobbbooooobs 10000400

goboobooooboboooobo
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s gboboooodgn ~N

0.0000000000000000 0.0000000000000000 0.0000000000000000
0.0000000000000000 0.0000000000000000 0.5000000000000000
0.3333333333333333 0.6666666666666667 0.2500000000000000
0.6666666666666667 0.3333333333333333 0.7500000000000000
0.0000000000000000 0.0000000000000000 0.1874200000000000
0.0000000000000000 0.0000000000000000 0.6874200000000000
0.3333333333333333 0.6666666666666667 0.4374200000000000
0.6666666666666667 0.3333333333333333 0.9374200000000000
N J

000000 (xyz) 0000000 xy200000000000000000
00000000000000000000000S0000Cc0000000
00000000000 Si000000000000CO00000000000
(1/3,2/3,1/4)000000000a000001/300b000002/300c0
0000 1/400000000000000000000000 (1/3,2/3,1/4)0
0000 (0,0,0)0000(0.773,1.786,2.532) 0 0 0 00 0 O O Primitive Vector
00000 R, P, R,OOOOOOOO (z,y,2)00000000000 (X,Y, 2)
00000000000

Po,o P10 P20
Py = Do ,P= P11 Py = P21 (2-12>
Po,2 P12 D22
B=1y (2.13)
z
X
Y :PO$+P1y+P2z (214)
A

O000DOO0000DO0b0O0OOPOSCAROOODOODOOOOVASPODOODO
ggobbbbbobouoooooobbbbbouooooobbobobobooago
O0D00000D000Db00bb0O0ODO0O0DO Selective dynamiecs 0O 00O O
gogobbbbbotouooooobbbbbouooooobbobobobooago
gboodbdlba, b,cO0b0000O0OD0OOOO TOOODOODOODD FOOO
0000011000 (1/3,2/3,1/4)00000000000FFTOOOOOO
gbboogobuoggbogbobodocbogbboobboobooboobbod
00000000000 FFFOOOOOOOOODOO(1/3,2/3,1/4)00000
OcO0000OD0O0ODO0ODODOOOOOODODOD POSCARODOODO

45



-~

4H-SiC
1.00000000000000
3.0935700000000000

0.0000000000000000
-1.5467850000000000

0.0000000000000000
0.0000000000000000

10.1287000000000000

4

Selective dynamics
Direct

O0O00O0O00D0O0O0n0 POSCAR

0.0000000000000000

2.6791102083854259

0.0000000000000000

0.0000000000000000 .0000000000000000 .0000000000000000
! .0000000000000000 .0000000000000000 0.5000000000000000
! .3333333333333333 0.6666666666666667 0.2500000000000000
! .6666666666666667 .3333333333333333 .7500000000000000
! .0000000000000000 0.0000000000000000 0.1874200000000000
! .0000000000000000 .0000000000000000 0.6874200000000000
’ .3333333333333333 .6666666666666667 .4374200000000000
! .6666666666666667 0.3333333333333333 0.9374200000000000
F
N

46




2.8.3 POTCAR

ggobbobobobuodooooobbbbuoooooobbbobouoooooonon
O04H-SiCO POTCAROO??20000000??200000000POSCARDOO
000000 POTCARODOOOOOODOOOOODODDOOOOOO??ODOOOO
Sio0OoOo0obOoOOooOocouboboouobboooboobooouoboooobooo 4
400000040 Si0000000D0OD0O40 COO00D0OPOTCARDODOO
gboboobobobooboboboboboboobobobobOodgMac
Oo0ooDooDobODObO0o0O0b0DwixOOOOO " grep ’Si” POTCAR” O
gob0oO0oobOOoobooO0ooboboooboOOoobooboOoOonD POTCARODO
Ooooo??ooo000oINCARODOOOO0ODODDOOOOOODODOOOOD
O000o0o0oobOo0oobbooboooboobD INCARODOOOOobDbOOoDoo.

PAVY_PBE 5i 05)an200|
4.00000000000000000

EATOM = 103.0669 eV, 7.5752 Ry
L]
¥
L]

-631516436073E-01 -757171941354E-01 -.896411710603E-01 -.105014918512E+00 -.1219303383|7E+00
- 140479159189E+00 -.160752140242E+00 -.182838197398E+00

............

PAVY_PBE C 08Apr2002
4.00000000000000000

LEXCH =PE
EATOM = 147.1560 eV, 10.8157 Ry

.647658834662E+00 .716950416187E+00 78943762161 1E+00 .864907568857E+00 .943081468528E+00
.102360696409E+01 1106050249 16E+01 .1 1898881 |68E+0|

------------

i
e mm e -

O 26: POTCAROOOUODOOOOODOOOOOOOODODOOODODOODOO
O000000O0b0obO000O0ooobD0obOobOOoobD POTCARODOODOODO
O000D00000b00O0b00000D Endof Dataset O OO DOOOOODOO
gogbbobogoboboboogooboo
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2.8.4 OUTCAR

OUTCAROOUOO0ODOCOOOODDOOOOODOOOOOUTCARODDOODOOO
O0O00O0o0DoOoooDoOUTCARODOOOD VASPODOODOODOOODDODOO
00000770 NBANDSOOOOOODOOODOOOOODODOOOOODODOOO
gbogbooboogbuodgbuoobuogbuogboobooboobouogooa
gbooboboobbobobouooboobbobboobboobogoubobo
ooooog??04H-SiCOO0O0OO0OO0OO OUTCAROODOODODOOOUTCAR
gbboobbooubboobbobobbobobobobboboboobuooboo

FREE ENERGIE OF THE ION-ELECTRON SYSTEM (eV)

free energy TOTEN = -60.266777 eV

energy without entropy=  -60.268783 energy(sigma-=0) =  -60.267446

YOLUME and BASIS-vectors are now :

energy-cutoff :  1000.00
volume of cell 83.95
_ _direct lattice vectors _ reciprocal lattice vectors
* 3.093570000 0.000000000 0.000000000 . 0.323251131 0.186629127 0.000000000
-1.546785000 2.679110208 0.000000000 : 0.000000000 0.373258255 0.000000000
._ 0.000000000 0.000000000 10.128700000 - 0.000000000 0.000000000 0.098729353
length of vectors
3.093570000 3.093570000 10.128700000 0.373258255 0.373258255 0.098729353
.
.

POSITION . TOTAL-FORCE (eV/Angst)

0.00000  0.00000  5.06435 0.000000  0.000000 -0.065260
0.00000  1.78607 253118 0.000000  0.000000 -0.045876
I.54678 0.89304  7.59652 0.000000  0.000000 -0.045876
{0.00000 0.00000  1.89832 0.000000  0.000000 -0.03949|

c

0.00000  0.00000  0.00000 0.000000  0.000000 -0.065260
Si

0.00000  0.00000 6.96267 0.000000  0.000000 -0.03949|
0.00000  1.78607  4.43050 0.000000  0.000000  0.1506218
I.54678  0.89304  9.49485 0.000000  0.000000  0.150618

total drift: 0.000000  0.000000  0.000468

0 2.7 OUTCARDODOOODOOODOO Primitive Vector 0 0 0 OO O O POSI-
TIONOOOOO POSCARODOOOOODODOODOOOOODOOOODOOD si
0000000 cooopoopooooooooOoOoO (o0, 0)oooooOoOoOoo
Primitive Vector U0 O OO0 O0O0O0O00OO0OOOOOOO
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2.8.5 KPOINTS

goboooo3booboooooooboo kbOooobobooboooboooon
o0b0o0O0b0obO0oooOokoobDobOOoookOooDo?>??200bObDbObOObDODO
gogobbbbboduoooobbbbbbuoooooobbbobobooood
gboboboboobobooooobobbobobobooroboboboooooon
ggobbbobodoooobobbbboooooobboboooooobbo
gbooobobooboooooboboboboobo koboobobobobo
gooooooob kobooog
ggobboobobodgooobobobbbdoooooobobbooooobobo
gbogboobuodgbuodgbuogobuooboobobobbobboobbooobdo
kOboobooooboooobobuoobobuoboboobobooooDoobUok
goboooooboobobooboooobooboboobkOOobO0oOdn0 Monkhorst-
Pach OO0 O0OO0OOOOMonkhorst-Pach 0 ODODOOOO0DOOOOOOOO
goboooooooooobokbooobbooboooboooooooboog
gboboboboooboooooooooobobob kboboboboboo
gbobobobokboboboobooboboooboooo kooooooooon
gobbuoogbbogbobbuooobbooobbobooobbuoooboao
O0o0boooboobooboooboobbaabcbonooooonoOoonDO
gbbogbuogoobogbobdoboobobuoobbooboobboogn
ggobbbbodooooobbbbbduoooobbbboooooobbo
gogbbobouoooooobbobboddooooobbobbboooog
gbooobgb 3«x3x3=270000boobobooboobuoobobod
Ubdb0d4x4x4=06400003004005006000000000O00OD0OOOO
gbobgobo2rogbobooboboobobobooboboobobon
gbobobuoboooobbobobd hepbbooooboobokboOoO
ggbobbbboboooooobbbbbboooooobobbbboooooo
gbkobooooodobobobooooooobobobbobobooboooon
gogbbboooobbbooaoboo
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S~ ERTA (RERCH T BE D)

k-point

TUNT = k-points mesh

028 00000000 k-points mesh

20



030 0Oo0dooooosidodn
HRERERERERE

3.1 OO0

000??00000000000000000Y.Ohno0 000000000
00000000000000000000000000000000Y. Ohno
0000000000000000
0Y. Ohno 0 0 0CzochralskiD 0 CZO0O0O00000000 (S 0000000
(P)0OO (As)00 ntype 000000000000 n0Si0000O000 (B)
00000 (Ga)0O0 ptype000D0D0O000000O pOdSiDO0O0O000O0
0000000000 S 000000000 1173K]000000000000
0010000000000000000000000000SF : Stacking FaultD
00000 weak-beam 00 000000000000000000000000
0000000000000000000000050-70[mJ/m?]00000000
POO0OOODSiDO00000O0O000000000O0O0000000000
0000000000000000000000000 40-60[mJ/m2000000
0000pOSi00000000OSiO0DNO0O0O0O0O0O0OO0O00000000
000000000000000000000000 ntype0 00000000
00000000000000000000000000000 11000000
00000 Si0000000000 TEMOOOOOO

00Y.OmoO00000000000000000S00000000000
0000000000000 12000001.20008i00 P, AsO0 n-type0 O
0000000000000000000000S0000000000000
000000000000000Si00B,Gald0 ptypeD0OO0OOOOOO
00000000Si000000000000000000000000n n-type
000000 Si00000000000000000p-type0 00000000
000000000000000

o1



031: POOOOOOOSIOO03000000000000000 TEMOOO
D000 g000000D00(a)g=[220]0(b)g=[202]0 (c)g=[022]0 11
000000000000 14x107247'00(e)(a)00000000() 0000

a/2[110]

als[211]
SF

ale[121]

220

g=111

Si001000000000000000000 g=111]0

m?

y [mJ

032000000008 000000000DOOO0DOOOOODODOOOOOO
(yOOODO0D0O0O0000000000000000000000000000 FZ
O Floating Zone U O FZ00000000 Si0O00OO0O00D0O0O0OO

10

60 |-

40

nondoped Ga

- - - U.—- - -
~
As i +_
®Fz P i

)) 1 1 1

1
o ((o- 100 10’ 102 10°

N [nm]

52
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3.2 2H0003CO0O0O0O0O0O0O0OOOO

3.2.1 0OO0OOO

0027, ?2?2000000000000000000000000000000
cubic000000 3CO00000000000000000000 HOOOO
00 hexagonal 0000000000000 O000O00OO0O00OOO 2H,3CO
00000D00000000000000000000 (2|0
0000000000000 000002H0 3C00000000000000
000000000000 0000000000000000000000001T
I000,B,Ga, VOODO P, AsO0000000 1.30000000000000
000000000 1.1000000000013(:) 000000000000
000 1200000000 1x1x3000000002H0000000000
000 (B 00000 O000002HOOOOOOOOO0O0O000000000
013(b)0000003C0000000003C00000000000000
000000 ¢00000000600000000000000000OO00
O01x1x20000000000000000000001.3(0b)000000
0000D000000000000 (Bs)000002H0 3C00000000
0 (AE = Foy — F3c) 0000000000 1.3(c), ()00000000000
000000000000000000Si(dopant)D0002HO 3CO000000
00o00oooo0on
D0000000000000 120000 00nondoped-SiDO00000SiO 12
00 (ng; =12)00000000000000000ns : Nqepant = 11: 10000
0000000000 Cutoff-Energy O 1000[eV], k-mesh 0 12 x 12x 300000
000000000000000000000000000000

O3 0b000b0boobo200000b00bDO00 v =0.37420

2H a:b:c 3.85: 3.85: 6.363 [0 ]
a: By 90 : 90 : 120 [O |

3C a:b:c 54687 : 54687 : 5.4687 (O]
a: By 90:90: 90 [O ]
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033:000000000000000 1200 0nondoped-Si0 000 ng = 12,
doped-Si0 0 O O ng; : Ndopant = 11 : 10 (a)2H-Si. (b)3C-Si. (c)2H-Si(dopant).
(d)3C-Si(dopant).
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3.22 0000

gogdggoobbboobbbbil12bbbboddgooooo3goooon
0 1.3000nondoped-Si0 00000000 0.1331 [eV]DOOOPOODOOODO
O00000S(P)DOO0O0D0O0O0O0O000O0.0632eV|D000O0OOOOOOPO
O00VOOOODOOO AsODOODO 0.0832[eV]00O0.1331 [eV]|ODODODODOOODO
000000000 B,Gad0O0DO000.0871 [eV], 0.0679 [eV] O nondoped-Si O
ggbbobuoooobboooobbboood

0 32:2H,3C, dopant 0O OO0 OO0 O0OO0DOOOOODOOOODOOOODODOO
00000000 nondoped-Si(ng; = 12), doped-Si(ns; : Ndopant = 11 : 1)

dopant Foy [eV] Esc [eV]
nondoped | -.64966742E4-02 | -.65099786E+402
P -.64690383E4-02 | -.64753624E+02
B -.64857009E+402 | -.64944124FK4-02
As -.63549794E4-02 | -.63632963E+02
Ga -.62027516E+02 | -.62095385E4-02

033 2H03CO0000000000AE = Ey — Esc

dopant | AE [eV]
undoped | 0.1331

P 0.0632
B 0.0871
As 0.0832
Ga 0.0679
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3.2.3 00O

0011000000000 n-typeDODOODOODOODODOOD SiDODODO
O000000D0000OOnondoped-Si, p-type U0 O ODOOOO0OOOODO SiQ
ggboboobuoooobobooogn

O00000n-typeUDOODOO0OOO0O0OOOOOODOO nondoped-SidO 0O
O000Db00b0O00O0obOo0bodon-typeOOOODOSIDOOOODOODO
gbobodgboobodbdbUp-typeOUUODUOODOOLDOO0OOOLDODOO n-type
goo0ooOoooooooosibobobobobobobooooooooo
ggbbobuooobbbodooobobbboodobbboooobbbooad

OobOoooSiooobooboooobobogo 2y, 3coobooboooboon
gooobobobooboobobooooobobbD 1400000000 hexagonal
OO0 cubicOOOOOODOOOOOODOSIODOOODOOOODOOODOOODOO
oboooobD ssogbgoboooooboobooboobOoobooob sion
O00000000000000000000000000 (000 cubicOOOO
0000000 hexagonal 000000000 0O00O0O0O0O0OOODOOOOOO
gboob14000000000000hexagonal O OODOOODOOOODOOO
gobooboobooboobogobooboobobooooooo 200 3CO0nO
gogbbobuogobobboooobobuooooboo

-5.410
2
Ly |
5
-5.415
&
C
eed
g -5.420
S 4H
6H
8H 3c
-5.425
0 0.25 0.50 0.75 1.00

Stacking sequence ratio

034 00000000S000000000000000 [eVIDOODOODOO
O0002HO hexagonal 00 100%00000003C0O cubicO O 100%00 000
O0D000O04HDO hexagonal OO O cubicOO OO0 1:10000000006H
01:3,8H0 1:400000000000
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3.3 DO0OoOSigdddoooooogooog

3.3.1 0000

oboooboobgooobooo sigooooboooboooboooo
O0000000D00DO00O0OSOD0oD0obD0b0ob0o0b00O0dglidesetO
Oshuffleset OO0 ODO0ODOOODOO0OO??200000000DiamonddOOO0O
(111) 000000000000 glidesset 000000 O0ODO shuffle-set 0000
O000D0obo0o0bDobO0boboboOobDOobDObOdglide-set O OO shuffle-set
O0000bO00o0bO0o0oobOOoOoobDoOoOooogo??,0??20000D0000O
shuffle-set OO OOOO00OO0O0OO0OO0OO DiamondO DO OOOOODOODOODO
gbogboobbogbuodbobbobbobbobbobobobboobo
OO000OOglide-set DO ODO0OOO0DO0OODOOODOOOO0OODOOODOODOO
gbogboobogbogboobobobbobbobbobbobbooba
O0000O00Oglide-sset 0000000000 (SF-S))000000O(110)0000
000000 (SF-Si))000000 1500000 14000000 (SF-Ssi))00O0O
O00000Aa0O0O00O0AOOOODO ABCABABCOOOODODODOOOOOO
000000000000 00000111]0000000000O00 (site-index)
O000O0ODDO0O0O0O0OC00ODODO0OmOOOO (1-site O 16-site) 100000
gbooobled0boobOoobOobbO0siteindexd 160000000

03400000 (SF-Si)J000000000000 00000 Onondoped-Si
Odoped-SiDOO0O0OO0O0OOO0ODOODOOOOOOODODOOOODOODOO
ggbbbuoooobbbouooaobbod

a:b:c 3.8671 : 3.8671 : 25.3096 [O |
oo0d a«a:p:v 90 : 90 : 120 [O]
u 0.0935741773872365
a:b:c 3.862183898 : 3.862183898 : 25.303134745 [0 |
o000 a«a:pf:xv 90 : 90 : 120 [O]
u 0.09366784094
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—

)16
: e
2 48
= 13 &
& 12 2
o0
=y 11
:Té 10
7
[111]

— NDW RO N 0O\

ABCABC _
>[112]

O 35 UD0O0ODODOSO000DO0O0DAaODOOD AODODODO AB-
CABABCUOOOOOODOOUDOOOODOOOOODODODODOUDOODODODDOOOOO(117]
O00000b0b0ob0boO0b0OODdsiteindexd0000O0O0O 1-sited 2-site...16-
siteJ 0000000000160 00000O0O0OOOOO0OOI6-site D OODOOMO
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0000000000000 Cutoft-Energy O 1000eV, k-mesh O 25 x 25 x 30
0000000000000000000000000000000000000
0000000000 O0000P,B,As,GaDO00O0O

1. SF-SiD00000 (Eg_g) 0000

2. SF-SiD000001-site0000000000000O00O0O (SF-Si(dopant))
000000000 (Esp_si(dopanyy) 000 0

3. SF-Si(dopant) 0 SF-Si00000000000AE = Esp_sidopant) — Ese_si (T
4.2,30000 1site0 16site0 00000000000

00000 14000000000000 SF-Ssi02x2x1000000000
gbobodgbbdabilebubugbbuoobbuoobboobobboobbd
000000000 (000) 000000000000 16()0000000O0O0O
O000oO0oO00ooooOogeooljco00ooooOoooOoUooooooooOn
00000000000 16(0b)00000000O0O0O0OO0ODOOOODODOOOO
gogobobbobbouooooobbobobbuooooooobboboboougo
gboobobooboboboobobooboboobooboboobon
l-sited 1lsite 0O 000000 O0DOOOOODODOOOOODODOOP, B, As, Ga

gogno
a
(b)

(a)

0 3.6: SF-Si0 0000000000100 0000000000000OOO0O0O0O
googbooobooobobbobbobbobbooboobooboobo
0000000000000000000000 Si000d0(e)0000 SF-Sid
O00000000000000000O0O0O0OO (oool)DoooOooOoOm)2x2x1
0000000 SF-Sid00oo0oo000ouooooooooooooo (o001) O
ggooobod
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3.3.2 0O0OOO

000000O0SFSi000000000 (Eg_g) 0 0-.86764259E402 [eV] O
0000 SF-Si(dopant) 000000000 (Esp_si(depanty) D000 1.5000 0
D00000000000000000000 siteindex 000000000000
0 1.6 0 O SF-Si(dopant) 0 SF-SiD0000000000000O0000O000O
000 16000000 SF-Si(dopant) 00000000 0 ng; © Naopant = 15 : 10
000

035 00000000000000000 SF-Si(dopant) 100000000
OD0000SFSiOD0D0O000016site ] POODODOOOOOOOOOOO
(Esp_si(p)) 0 0-.86410646E+02/eV]0 00O SF-Si0 00000000 Esp g =
86764259E+02 V][0 0D D OO00OO0DO0O000 12000000 SF-Si(dopant) O
D0000000ng : naepant = 15: 10000

site index  Egr_gi(p)[eV] Esp_gim)[eV]  Esr_sias)leV]l  Fsp_si(qa)leV]
16 -.86410646E+02 -.86583907E+02 -.85276134E+02 -.83762825E+02
15 -.86410689E+02 -.86582027E-+02 -.85265240E+02 -.83760201E+02
14 -.86407680E+02 -.86585626E-+02 -.85260843E+02 -.83764683E+02
13 -.86460564E+02 -.86572962E+02 -.85321459E+02 -.83780315E+02
12 -.86459036E+02 -.86544527E+02 -.85298750E+02 -.83791129E-+02
11 -.86518958E+02 -.86540504E+02 -.85395307E+02 -.83804290E+02
10 -.86518963E+02 -.86540504E+02 -.85395308E+02 -.83804295E+02
9 -.86459036E+02 -.86544527E+02 -.85298750E+02 -.83791131E-+02

-.86460564E+02 -.86572951E4-02 -.85321458E+402 -.83780312E+02
-.86407680E+02 -.86585626E+4-02 -.85260843E+02 -.83764677E+02
-.86410689E+02 -.86582027E+402 -.85265240E+02 -.83760201E+02
-.86410646E4-02 -.86583907E4-02 -.85276140E4-02 -.83760018E4-02
-.86411483E4-02 -.86583968E4-02 -.85277885E4-02 -.83760018E4-02
-.86411130E+02 -.86584693E+402 -.85280440E+02 -.83760926E+02
-.86411130E+02 -.86584693E402 -.85280439E+02 -.83760923E-+02
-.86411483E+02 -.86583968E+-02 -.85277851E+02 -.83760013E-+02

= N|W =[Ot O

60



0 3.6: SF-Si(dopant) 0000000 SF-Si0O00oOoO0OO00O0O

AEdopant = ESFfsi(dopant) — Egp-si

site index AEpleV] AEg[eV] AEasleV] AEgaleV]
16 0.35361  0.18035 1.48812 3.00143
15 0.35357  0.18223 1.49902 3.00406
14 0.35658 0.17863 1.50342 2.99958
13 0.30370  0.19130 1.44280 2.98394
12 0.30522 0.21973 1.46551 2.97313
11 0.24530 0.22376 1.36895 2.95997
10 0.24530 0.22376 1.36895 2.95996
9 0.30522 0.21973 1.46551 2.97313

0.30370  0.19131 1.44280 2.98395
0.35658  0.17863 1.50342 2.9995

0.35357  0.18223 1.49902 3.0040
0.35361  0.18035 1.48812 3.00144

0.35278  0.18029 1.48637 3.00424
0.35313  0.17957 1.48382 3.00333

0.35313  0.17957 1.48382 3.00334
0.35278  0.18029 1.48641 3.00425

= N W OO o
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glvboo2x2x100000000000000000O000O0DO0ODO0O0OOO0
SF-Si(dopant) 0000000000000 O000OOO 1.800SF-Si00oO0OoOO
0 SF-Si(dopant) 0 0000000000000 0OOO0OOOOOOODOOOOO
6400000000SF-Si(dopant) 0000000000 OOng; : Naopant = 63 : 1
goon

037 2x2x10000000000000O00O00O0O0DO0O0OODO0ODD
SF-Si(dopant) 00000000 02x2x10SF-SiD00000000 Esp_gi =
34705773E403 [eVID OO OODOOODODOOO 64000000 SF-Si(dopant) O
UO0000000ngi: ndepant = 63 : 10000

site index  Egp_gi(p)[eV] FEsp_sis)[eV] Esr_sias)[eV]  Esr_si(aa)leV]
11 -.34679552E403 -.34736793E+03 -.34588883E+03 -.34403801E+03
1 -.34673664E4+03 -.34737311E+03 -.34582199E+03 -.34394702E+03

038 0000000000 25[%] 000 SF-Si0 SF-Si(dopant) 000000
000000000 100[%) 000 SF-Sid SF-Si(dopant) 0000000

AE =  Esp_gi(dopant) — Esr-si

dopant  site index dopant concentration 25[%)] dopant concentration 100[%)]

P 1lsite AE =0.2622 [eV] AE =0.2453 [eV]
1-site AE =0.3211 [eV] AE =0.3528 [eV]

B 1lsite AE =0.3102 [eV] AE =0.2238 [eV]
1-site AE =-0.3154 [eV] AE =0.1803 [eV]

As  1lsite AE =1.1689 [eV] AE =1.3690 [eV]
1-site AE =1.2357 [eV] AE =1.4864 [eV]

Ga 1l-site AFE =3.0197 [eV] AFE =2.9600 [eV]
1-site AE =3.1101 [eV] AE =3.0043 [eV]
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3.3.3 OO

01.600000000000 SF-Si(dopant) 0 SF-Si0O0000O00 (AE)DO
0000000 AEDDOO SF-Si(dopant) 100 00000000000000
00 (siteindex) 0000 1.7000000(a)0 BO(b) O Gal (c) 0 PO(d) O As
000000000000000000000000000 1.7(a)0 site index=10
000010-sited BOOOODOOOO SF-Si(B)0 SF-SiD0000000AEDD
00000000000000000000
00 1500000000 10sited 11site 000 0000000000000
1.700000000000000000()0AEODODOOOOOOOOOO
10-site, 11-site 0 0 0000000000000000000 0.0400.05eV 00
0000000000000Si000000BO0000000 9-sited 12-siteD
BOOOOOOOOODOOOOOOOODO00000000O0BOOOO IO
00000 GaDOOODOOO0SF-Si(Ga)0 00000000 (b)000BOOO
00 10-site, 11-site 000 0000000000000 0.0400.05eVO00000
00 Ga0O00O0O0O0000000000000000000MNOO0O0000B
0CGa0000000000000000000000000000000000
0B, Ca0000000000000000O0OBOSIOOOONO0O0O0O0O00OO0
00000Ga0Si0000000000000000000000000000
00000000008 00000BOOO0O0O000O0O0O0OOO0O000000
0000000000000000000000000000000S0000
0Ca000000000000000000000000000000000O0
00000000VOOOPOODOOO0O00O0OO (¢)0 00 10-site, 11-site 0 O
0000000000000000000.100.12¢V0000PO GaOOODODO
00000000000000000000000POOOOVOOOOOO As
0000000 (d)000000POOOO0O0O0O0OOOOOOOOOOO 0.10
0.12eVOOO00OPOOOOAsOOOOODOOODODOONOOOOOOOO0O

0000000000000000000000002x2x10000000
00000000000000007?0072?000000000007??0000
OPOO0O0O02%00000000000 1site000000000 0.3211eV0O
00000000000 1lsite 000000000 0.2622eV00000000
000000 POOOOOOOOPOOOONOOOOOOONOOOOOOOOO
00000000000??70000011-site00000PO0 25%0000 0.2622
eVOOOODOOOOPOD 10040000 0.2453 eVOOPODO 100%0 0000
000.012eV00000000000001-site000000PO0 25%0000
0.3211eVOO0O00OPOD 100%0000 0.3528 VO OO 0.0317eVO OO0 OO
000000000000000POOOOOO00000000000 (1-site) O
POODOOOOOO0O0O0O0OOOOOO0O0OOOOOOOOOOOO000 Si0
00000POOOOOOOOO0O000O0OOOOOOO00O
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gbboblsbboobbuobbodgbbodobbodobboobboobo
000000 18()0000000POOOOOOOOOO2B% 0000000
0000 (lsite) JOD0OOOO (1lsite) OO0 0DO00O0O0OO0O0DOOOOOOODO
100(% 000 000000000000000000 (1site)00 POODOOO
O0000000000000000000 (11-site)00 POOOODOOOOOO
gbobobobobobobopbO0ObO0ObO0ObO0ODbODbOOODbDObDODODLO
gbooboobobboboobuoobBOobOooboobooboBOOOO
018b) 0000000000000 0O0000O0O0O0OOOOOODODODOOO
gbooboooboooboobbooboooboobboBOoObOoobOOO
000000000000000000000000 18(c)b0UAsODDOOOP
ggobbbbuoooobobbbbtboooooobbbboooooobbo
O0o0oboOoboOopPOD0OO0OODODOODOODOODODOODO AsODODO
OO0O0bOOo0oOoooOoOoooDooOooDboDAsOOSibODOoOoboooOoooooo
0000000000000 18(d)000Ga0 000000000 ODOOOoo
ggobbbboooooobobbbbuodooooobbbbboooooon
O0b00bbO000 Galboobooboooooboobbooboooboooboo
gogbbbuooobbbuoooobbod
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AE = Esr-sip) - Esr-si

0.40

0.35

AE [eV]
o
8

0.25

0.20
123456 7 8 9101112131415 16

site index > [111]
(a)

AE = Esrsi(as) - EsrF-si

1.55

1.50

AE [eV]
5

1.40

9|

12 3 45 6 7 8 9 10 111213141516

site index > [111]
(c)

1.35

AE = EsrsiB) - EsF-si

0.30

0.25

AE [eV]
o
N
o

0.15

0.10
123456 7 8 910111213 141516

site index > [111]
(b)

AE = ESFsi(Ga) - ESF-si

3.10

3.05

2.3.00

2.95

2.90

12 3 45 6 7 8 9 10111213 141516

site index > [111]
(d)

037 0000000 S0O00000O0O00ODOO0ODODOOoOOoDOOoOoon
D0D000000000AE = Esp_sitopant) — Bsp—si [eV]0 00 O dopant 0 0 0
O0000000Ositeindex00 1.500000000000000 (a)dopant = B,
(b)dopant = Ga, (c)dopant = P, (d)dopant = As[]



AE = Esr-sip) - Esr-si

AE = EsrsiB) - ESF-si

0.40 0.30
0.35 0.25
= @ =
2.,0.30 2,0.20
= =
< <
0.25 0.15
A S S
-0.310
0.20 _0_315‘ [ )
12 3 4 5 6 7 8 9 10111213 14 1516 12 3 45 6 7 8 9 10111213 14 1516
site index > [111] site index > [111]
(a) (b)
e AE = Esrsi(as) - ESF-si s AE = Esr_si(Ga) - Esr-si
1.50 3.10‘
> >
2L.1.45 2, 3.05
1.40 3.00 .
104 . 2.95
117
2.90
‘] 2_3 4 5 6 7 8 910 11 12‘13141516 12 3 45 6 7 8 9 1011 12‘13141516
site index > [111] [111]

(c)

site index (d) >

038 000000000002B%000000000000000000O0O
SidddpobooOoOo0o00000dooDoboooOo0o00oooooooOono 1.7g
0000000000000 00000000000000ODO000O0 25[%|00
D0000000000000AE = Esp_sidopant) — Bsr_si [eV]0 0 00 dopant
O000000000OsiteindexO0 0 1.50000000000000O0 (a)dopant
= B, (b)dopant = Ga, (c)dopant = P, (d)dopant = As[
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40 SiCOUO0O0O0ooodon
HRERERE

4.1 OO

sic000O00O0000b0bO0o0obO0oDOobO0oobOoDOooOoobOoDOon
0000000000000 O00000o0o0LelyDODOO0O0O0OooOoODOOOO
O00000bODO00ob00oooooboOooSsicogbooobooobooooo
goooooooooogoooltidooodooooooooooongn
00000000000 D0ODOOMSE : Metastable Solvent Epitaxyd 0 0O 0O O
0000 SiCOo00oOo0o0o0oooooooooooooogsicoonn {ooo1}
0000000000000 0D0o0O00oo00ooooooooDOooDoOoDooo
sicOOOonooooo??ooon

<

S50um
(a) (b)

0 41: (a)Lely0 000000 SICOOD0O (0001) 0000000000000

OOAFMOOOOOO0000000000000000((MMSEDODDOOO

siCO0OO000D0D00oOoooDoOoOoOSEMOOOO{oo0l1}0ODOOOOO0OO
goooo
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oboooooooo sicogboobogobooboobooooooooooooobog
O0FankO000O0OO0O0OOO0O0OOOOOOOOOOODOOODOO0ODOODOOD
LelyOOOOOOOOODOOOODOOOOOOODOOOOOOobDooboOoOoD
gbogboboobboobodb -0 -ugboobboobbobobobooo
O000b0O LelybOoOooooboobooooboobooboobooooDo
o0bO0o0obO0o0oo0oobobooogob siboboobooooooOoboog MSE
ggobbbbodoooobbbbboooooobbobboooooobbo
gogobobbobooooogobbobobbooooooobobooboboooood
ggobbbboduoooobbbbbdooooobbobboooooobbo
goobbobbbdoooooobobbobbbooooogooobooooood
Oo0oooobooooob0oooob0oboooonoD LelyOOOoooDO
oo0oboooobOoboboooOobooboooboobUobObOOooOobDOoOg MSE
gogbbbuooobbboooobbbuooobbboooon

gboobuoobuoobuoobuoobooboobodLelybboobboob g
gboobooooboboobooooboobocoboobooooobogn Cerich
oooooooooOoMSEODDODOODODODODO sioboboboobooo
Si-rich0 0000000000000 0O0O0O0O0O0O0OO0OO0OOO0OObOoOoOO
godogoooobobboobbboddoooooooooboobboooo
Oooobooooooosicooboooooboooooooooobooooosico
gogobobbobboogooobobobboooooobboobbooooood
goooo??ooboOonon

041 SiCcO0b0obooooooobooboboobooooboooboobobooon
g

Lely [ MSE [
Oo0oooooon [] []
Oooooo DJo0ooooOo | oooooo
1O C-rich Si-rich

4.2 OUOOOOOOOO

000000SCO000003C, 4H, 6H-SiCO000000000000000
0000000 4H, 6H-SiCO0O0{0001}000000000 {1120300 {1100}
0000000000000000003CSiC00000000000nnnn
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000000000 {111}00{110}00{112}0000000000000VASP
0000000000000000 (By, Faw,) 00000000000000
00000000000000000000000-0000000000000
0000000000000000000000000000000000000
0000Lly00000-00000000MSEODOOOO-00000O0O0OOO
0000000000000000000
00000000000000000000000000000000000
0000000000??0000000000000000000000000
0oooooo

AFE = Ega, — Epuk (4.1)

0000??000000000000AE0OOOODOS m?000000000
D00000000000000 EBape 1000000

AFE

Esurface - T (42)

gooobooboooobooboboboboo?»?obobobobobOoboD
goo0obooooboobooboobooog??>ooooboobooooooooooon
ooooooboobooo??0odooboonD o0 x20000

042 0000000 SCOO0OO0OO0OO

3C-SiC a:b:c 437744 : 4.37744 : 4.37744 [O ]
a: By 90:90:90 [0 ]

4H-SiC a: b:c 3.09541 : 3.09541 : 10.13044 [O ]
a: By 90 : 90 : 120 [O |

6H-SiC a:b:c 3.09541 : 3.09541 : 15.18043 [0 |
a: By 90 : 90 : 120 [O |
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..................

{0001} T {1120}

| e

{111} {1 TO} {1 15}

042 00000 {0001}000000000 {1120y00 {1T00}000000
0 {111} 00{110} 00 {112} 0O

Lattice are of the slab model

10 [A]

L4
L4
L4
L4

Vacuum area

-
-
-
-
-

----Bulk area

g

043 00000000000
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4.3 U0O0O0OO0OO0OOOOOOO

4.3.1 OO0

SiCO {oo01} 0000000000000 0O0DOOOUOOOOOOODODOO
0?2?700000000007??2000{1120}00{1100}0000000 Si0000
000 COO0U00OO0O0oooooOoooooo{oool}oooooOoOoooOoUO
0Si0000ooooooooooolj]000000ooooooooooooosi
O00oocOooooosiboc0oooouooooooooooood{oool}
gbogoobooboobbuooboobbooboobboobooboon
ooboooogSibcoboogoobooooobooooooooobooonog
gbogoogobon

4H-SiC

0 4.4: 4H-SiCO {0001} 0O {1120} 00 {1100} 000000000000 Si0
D000 CODO0O0004H-SiCO [0001]00000000Si00000CO00
00S00CO000000000000000000Si0c000000000
D000000000000000000000000000
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4.3.2 0O000O0O0OO0OOOOOOO0OO

C-SiCO000od00oooooooobooOoo?»ooonoo??200000
00000000000000 111jood [ﬁi]DDDDDDDDDDDDDD
OJ00d0oooooosSirichO0000 CrichO000000D0D0DOO0OOOO0O0O Si
O0odddegoooo??2000ddfdooooooooObooooooooon
0000000000220 605=0,0=1000000000000Si0000
cOodddooOdl:1000000oooooooo?>ooooooo??20000
oo odooooonoooooooooouoooa
goooodootuooooboouodooooooooooooouooog
ooooooooodgo
®:Si
e:C
[111] O. .. -4 - Si-layer termination

A

-@----@---@- C-layer termination

> [112]

0 45: 3C-SiCO0000000O0OOOOOOO {110}0000000001(111]
000Si0000oo0oooooinooooocoooooon

4.3.3 OUOOOOoOOO

000000Gue-XinQan0 000 [?]00000SICO000000000 (chem-

ical potential) 10 00 0000000000000 0 [mel] 000000000

0000000000000000000 w0000000000000000

000000000 EpuyDO000000000 0000000000000
x007?70000000000

Eipulk)

i
0000072000000 S8C0000000000 psicpuo 00Si00000
0000 u 0 CO00DO0D000000 4000000000000000000

Hi = (4.3)

72



l ([ l l [ ] l [ ] .. 9
a8 9 a8 06 0 9
o:Si | @ o ¢ o @ 0. 0.
®:C (& o Q _A& Q _A
o © o © o © 2 _A
[111] o @& ©
A 2 _8 e o 2 _8
o @O © o @O © ® O o
Osi =0 Gsi =0.5 Osi =0.5 Osi =1
a-type b-type

> [112]

046: 0000000000000SiO00000 60 00Sirich, Crich 0O
0000000000000000000060s=05000000000 atype
ObtypeJ0OOOO0OO0O00O

O0A, BOOOOOODO ABOOOOOAB=A+B+AH, 00000000
Osicoo0oooooooo?»?000onooon AF, 00000000

psi+ 1o = [ASiC(bulk) (4.4)
= WUsi(bulk) T Hcmbuk) + AH; (4.5)

OoOoOoo??000S8C00000000000wsi0 pc00000000DO0OO
gbooobuooboobooboon

AH; <0000 (4.6)
psi(buik) + AHp < pisi < figi(bulk) (4.7)
pewuk) + AHp < pe < piebuk) (4.8)

0?22?0000 0ug0 pc00002?70000000000000000000
O psi = pisipuny 000 00 pie = popuy +AH,000000000000000
00?2?20000000000000000000 Sil00%0000 C100%00 00
SiCO0001:10000000000000000000000000000
000000 Si0000CO0000SiIC000000000N0NNoNnononag
00SiCOSiD00000000000Si0SiIC00000000000000nn
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000 psipug 0 SICO0 ps 0000000000000000000 SiCO0
pc0000SICO SIO0D00000000O00000O0DO0ODOODO0O0 SsicOo Si
O00D0D00oOoooooosicon ug O pcOOO??000 SiICO SIiOOOOO
00000000000 oOo0o0o0oooooooosicoocgoooooooo
000 s = psigouigD i = fopai + AH; 000000000 Crich 00000
0000 pc = pempun D gsi = psipury +AH, 0000000000

goodoootoooobotobooooooooooooooooonoooon
gooood

USi(bulk)

JE|:
____________ M C(bulk)
= RN
20 T T
> e TS
B0
5 AHy/2
Si:[nsi=1] SiC:[nsi=0.5, nc=0.5] C:[nc=1]

047 Si-CO00000000000O0O0OO0OOOOOOOOO0OO Sil00%000
O cloo%»00oosiCodin1:100000000000000000o0og-
gogd
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4.4 0O0O0OO0

oooogooosicoogosibboobcooooboooooo?»?booooo
SicCOO000000000O00Si0o0ooooone=54687[0]j0COOO
000000 e=3.57368[0]0000

0 43: 85iCO0O0 S, CO0000000000O0O0O0O0O0O0OO [n]0 Cutoft-E, k-
mesh[]

polytype  Energy [eV] n; Cutoff-E [eV]  k-mesh
3C-SiC  -.48187544E+03 ng; : ng =32 : 32 600 222
4H-SiC  -.48178775E+03 ng : ng = 32: 32 600 331
6H-SiC  -.36131817TE403 ng :nc=24:24 600 331
3C-Si  -.10849937E402 ng:nc=2:0 1000 2525 25
3C-C -.18195132E+02 ng :nc=0:2 1000 31 31 31

Doooo{o001}000000 {11201 00{1700} 0000000000000
00000??2000000

0 4.4: {0001}000000 {1120100{1100}000000000000000
0000000000 [n])0 Cutoff-E, k-mesh[

polytype Surface Energy [eV] n; Cutoff-E [eV] k-mesh
3C-SiC {110}  -.23463915E+03 ng; : nc = 16 : 16 600 513
{112}  -.34807293E+03 ng; : nc = 24 : 24 600 251
4H-SiC {1120} -.45832480E+03 ng; : nc = 32 : 32 600 312
{1100} -.46809785E+03 ng;: nc = 32 : 32 600 512
6H-SiC {1120} -.68670807E+03 ng;: nc = 48 : 48 600 311
{1100} -.69891968E+03 ng; : nc = 48 : 48 600 511
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0000{0001}000000000000000O0O0O??00000U0polytype
0000 atypeOb-typeOO0O??2000000060g =1/20000000000

0 4.5: {0001} 0 0000000000000 00O0O0O0O0O0OO () 000000
0000000000 [n)OCutoff-E, k-meshOa-typedb-type 0 OO0 770 fg; = 1/2

goboooogd

polytype coverage (fs;) Energy [eV] n; Cutoff-E [eV] k-mesh
3C-SiC Osi =0 -.73257423E+03  ng; : ng = 48 : 52 600 331
a-type Osi = 1/2 -.69360584E+03 ng; 1 nc = 48 : 48 600 331
b-type Osi = 1/2 -.70535186E+03  ng; : nc = 48 : 48 600 331
Osi =1 -.73257423E+03  ng; : nc =52 :48 600 251
4H-SiC Osi =0 -.96747961E+03 ng; : nc = 64 : 68 600 331
a-type Osi = 1/2 -.93444837TE+03 ng; : nc =64 :64 600 331
b-type Osi = 1/2 -.94625973E+03  ngi :ng =64 : 64 600 331
Og =1 -.97345442E+03; ngi : nc =68 : 64 600 251
6H-SiC Osi =0 -.72659499E+03 ng; : nc = 48 : 52 600 331
a-type Osi = 1/2 -.69362152E4+03 ngi : nc = 48 : 48 600 331
b-type Osi = 1/2 -.70522105E+03  ng; : nc = 48 : 48 600 331
Osi =1 -.73244362E4+03  ng; 1 nc =52 : 48 600 251
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ggobbbbbougoooobbbbbbooooooobbbbbodadao
gr2?00??000000000O

046: 00000000000 [J/m?01[eV]=1.60218 x 10~ [J]

environment coverage (fs;) 3C-SiC  4H-SiC 6H-SiC

Si-rich fsi =0 8.14 8.17 8.16
a-type Osi = 1/2 7.05 7.03 7.00
b-type Osi = 1/2 4.92 4.94 4.94

Os; =1 2.80 2.82 2.83
C-rich fsi =0 7.60 7.63 7.62
a-type O = 1/2 705 703 7.00
b-type Osi = 1/2 4.92 4.94 4.94

Os; =1 3.33 3.36 3.38

047: 00000000000 [J/m?0 1[eV]=1.60218 x 10~ [J]

Surface 3C-SiC 4H-SiC 6H-SiC
{1120} 3.53 3.31 3.39
{1100} 4.45 4.40 4.27

7



4.5 U0

Oo00000 SiriechO00OOOD0SiICOO0O0ODOOODOOOOOOOOOO0ODO
Oo0b000o0bOooboOooboOoDbsC 4H, eHOD0OO0DDOODOODOODOODO
0000000000000 oooooo{oool}ooooOOoOoOODOoOooOOO
oobobOodCrichOOOOOSiICOODOoooooooboooboooboogo??
OoOoboOoOSirichODOOO0O0OOOO0DOOO3C, 4H, 6HOODOOOODOOO
O000000o0o0oooOcCrichOOO{oo01} 00000000 OOOOOO
gogooo

Surface energy [J/m]
M ELN (o)) o

o

{0001} {11-20} {1-100}
B 3C-SiC B 4H-SiC B 6H-SiC

0 4.8 Sirich0 00000 SiCOOO0O0OOO0OO

s [0} (o]

Surface energy [J/m]

o

{0001} {11-20} £1-100}
M 3C-SiC B 4H-SiC B 6H-SiC

0 49: CqrichODOO0O0OOSiICOOODOOODOO
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SiCO {0001} 000Si-rich00000000000000CrichODOOOOO0
ooooooooogooooobooo???0b00boUobOUobOOoboOobOOobooboOon
gggbobbbbbuodogobuooooobbbobobboooooooobn
000 (a)0O{foo01}00000000C00OO0O0OOOOOOOOOOOODOOO
(h)OOOOODOoOOOOOoOooooOOooooooOoooooooooooooo
gogobboobbodogooobobboooooobbooboooooobobon
O0000000Sirich0D000 (c)DO0O00{0001}0 000000000000
O000000000000000000 CrichOOOO{oo0l}000000OO0OO
0((d)0D00000000000o0o0000o00UoDO0ooO0o0ooODOOo0ooo
gobooboogogoon

oobOodSirichODO00OMSEODOOODOOO SiCOODOOoOOooooon
O00000DDCrichODO00ODO0 LelyOOOOODOSiICOODOOODODOO
ggogbobbbbbbodoooooobobbbbbbooobouooooooobn
gogbbobuoooobbbooooboboooobobboooooobooo

% [0001] diffusion atom
< * —@0—-
jml
% SiCHAKE & SICHiHE &L
(a) (b)
FamICIU D A Z IR T
%Si-rich ->:<-c-rich\
—0—- B <0-
| ]
SiCHAKE H SiCHiHE &L
() (d)

0 410: oo oOoOooooboboooobobboooobboood
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s OO

gogobboobougoooobobbboooooonobobbooood
00000 VvVASPOOOOOOOOOOOOOOOOOOOOO0O0O0O0O00 (Si)
O000oO0OO0o0oOoOoOoOoOoOOOOOOOO0O0OOOOOOOOOOOD (PO si
00000000000000D0O000000000O000OOOoO (SiC)0oo
gogbobobbuoooogobobboooooobooboooooobobon
gobbooood

ooooogosigogboboboooooooogoo

O0000gyY.OhoOOOOOOSIiDOOOOOOOPOOODDOOCODOOO
O0000o0oO0DoOoooognoyY.OhoOODOODOODODOP, AsO0O n-typeD O
ooooSiooooooooooboobooobooobobooDooOobDoODs, Ga
OO0 ptypeDOODOOO SIDOODOOOOODOOODOOODOOOOODOOODO
gobood
ggbbobuoooobobooogn

1.2, 3CO00000O000DO0O00bOobbOobbOoOoboOoboobooooog
O n-type, p-type D000 00SIDO000O0O0O0O0O0OOOOOODOOOO
gbobogoboodbbuooboobbuoobuoobobooobobooo
gobbbuoooobbbuoooobbboooobbbooaon

2. 00000000000000 160000000 glidesset0O0O000OOO0
gbobogoboodbboobbuooboboobbuoobobooobonoo
P AsO000000O0DOOOO0ODOOOODOOODOOODObOOObOOOD
gbobooboBbhooboboooboboobooboboobobon
OooooboObo0oO0GabgoooOobOOoOoOoobDObOOoOooboDboooP
OAsO000O0D0OQCO0DOOO0OO00DOO0O0ODDOOODOOO

3. 0000000000000000000000000000000000
000000000 100[%]00 25% 0000000P, BO00O0O00
D000000000000000POO25[%00000P00 100[%)0
000000 POO0O0OOODOOOOOOODNO0O0OOOONONODNO00O0
D0000000000000POO0O0O000000000POOOOOO
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gboboboobobbgoBhobuooooooBOobOOobDOobDOoDOO
gbobobooboooboobobobouoboobooBOobboboobooooO
gbobobobuoggbboobbooobboobbouooobobodoabn
gboboooboobobobooobpbOO0obo0obOoboobOoonon
gbobooboboboobobobooBobOoboooobobon
gobbobuogoobobboooobbbuooobobogo

oo0ooooboobobooooooogyY.Ohnoobobboobooogoo

SsiclOdoobobootbobooooboobobooboooooo

SiCOOD0ODO0O0OD0O0OD00OLelyODO MSEODODODLelyDODOODODOO SiC
00000000000 000004{0001}000000000000O00O0 MSE
0000000 SiCco0ood{oool}00oo00ooooo0o0ooooooon
ggooobod
O00000000000000003C,4H,6HODOOOODODO SiCO {oo01}00O
0000000 {1120} 0, {1100} 0 0000000000000 0OOO0OO-O
gogobboboboooooooboobbbdooooobobbooooooboboon
Ooboboo0oooooooooooooboDbooosiogooD eh0O0 bg =1,
i =1/2,0;=0000000000000000000 SiCO si,co000O
ggbbobuooobbbooogbbbuoooobboooobobboood
gobobooogd

1. {0001} 0O {1120} 00{1l00} 00000 OSICO000OOOOOOOOO
00000000000000000000000000SiC000000
0000000000000000000000

2. Si-rich000{0001} 0000000000000 OO{o001}000OOOO
{1120} 00{1100} 0000000000000 O0O0OOO0O0O0O0OSi-rich
ooosicoO{oool}ooooOoOoOoOO{oool}ooooooOoOOOO
ggbbobuoooobbobuoooobo

3. CrichO0OO{0001} 0000000000 0ODODODOO{o001}0O00ODOODO
{1120} 00 {1100} 00 0000000000000 OO0OOOOOO0OC-
rich000SiCO0{0001}0 0000000000000 O00OOOOO0O0O0
gogbbobuoogobbobuoooon

gobbuoggbbooobboooobbuooobbuooobboooboooa

1. Si-rich0 O {0001} 000000000000 000O00O0OOOO0O0O{0001}
gbobuogbbuooobooobboobbodoboobboobbooo
gobbobooggbbodad
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2. CrichO00O0O{o001} 000000000000 O0U0O0OOOOOOOOO
gbobogbobuogbobuogobooooobboobbuoobbuoooon
ERERE

gobooooboooboooboooboooooooosicoobooooooooDo
ggn
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[0 OA MapleOOOOOOOOMO
HRERERE

O000000Si00000o0d??(a)00000000 DiamondOd 0000 ?7?(b)
ggboobuooogbbboooobbobogn
O MapleOOODO POSCAROUOOODOODODOODODOOOOOODOODO

0 A.1: Diamond 0003000 Si. ()0 00000000000 ((M) 00000
0000000 ()(b)00000 Diamond 100000

POSCARDOODO
gbogoboon
OO0 POSCAR OO
i g

rimitive vector

U gooog
U gogogno
googn
p-vec U U

0o
g
HRN
00

[
[
< OOdnd

0
0
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( Maple DO OO0

restart:
with(LinearAlgebra) :
Digits:=50:

POSCAR:=proc(ball,p_vec) # for VASP calculation
local v,i;

printf ("POSCAR\n") ;
printf (" 1.00000000000000\n") ;

printf (" %1.16f %1.16f %1.16f\n" ,p_vec[1] [1],p_vec[2] [1],p_vec[3][1]):
printf (" %1.16f %1.16f %1.16f\n" ,p_vec[1] [2] ,p_vec[2] [2],p_vec[3][2]):
printf (" %1.16f %1.16f  %1.16f\n",p_vec[1][3],p_vec[2][3],p_vec[3]1[3]):

printf("  %d\n",nops(ball)):
printf ("Direct\n"):
for i from 1 to nops(ball) do
v:=ball[i];
printf(" Y1.16f %1.16f %1.16f\n",v[1],v[2],v[3]);
end do:

end proc:
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00000000S00000000000000000000000000
0SiDD0000a=54687[0]0000200000000000000000
00000000000000a: b: c00000000uwO000O00
Dc00000000000000000000 Diamond000000000
«/(1/82+ (/42 + (1/4?000000000000000uw0 c00000

gogoobooogn

U
U
U
a
U
Maple 0O OO0
[a05.4687,
a := sqrt((0.5%a0)"2+(0.5%a0) "2+(0.0)"2);

c := sqrt(3.0%((a0)"2));
u := sqrt(3.0%((a0/4)"2))/c;

00000000000 primitive vector D00 O00O00O0O0OODOOO??
00000000 a:F:y=90:90:120[0|000000a00 1200
obObOooOod

rimitive vector, al, a2, a30000OU0O0OO0OO0OOO0MO0 pvecU

Maple DO OO0
al:=Vector([a,0.0,0.0]):
a2:=Vector([-a*0.5, a*0.5%sqrt(3),0.0]):

godd
goon
goon
gooo
goon

a3:=Vector([0.0,0.0,c]):
p_vec:=Matrix([al,a2,a3]);

A y
(a*cos(120°), a*sin(120°) )
b

120°

(a,0)

0O A2 00000Caa00DbODOOODODOODOODOOOOOO0 a:B:yv=290:
90:120[0)000000a00 1200000000bLOOODODO
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0000000000000 0DbO0000DDbOOo0 A,B,CO0DDOOoOoOn
000000000007?2()000000 (0,0), (1/3,2/3), (2/3,1/3)0000
00000000 Diamond00O03CO0000O0O0O0O0OO0OOOOO0O??2(b)O
00000 c00000D00.0,1/3,2/3000007?2(c)0000000C0ODOO0OOO
oo0000 0.04u, 1/34u, 2/3+ud00000000000O0O0OD0OOOvbasisO0
goooooodgo
( Maple DO OO0 \

basis:=[Vector([0.0, 0.0, 0.0]),
Vector([1/3, 2/3, 1/3]1),
Vector([2/3, 1/3, 2/31),
Vector([0.0, 0.0, 0.0+ul),
Vector([1/3, 2/3, 1/3+ul),
Vector([2/3, 1/3, 2/3+ul)
]:

cil
bl (1/3,2/3) .'0

23,13) - ‘ 113

S @00

(a) (b)

0 A3 (0000000000 A,B,CO00000a b00000ADDDOOO
0(0,0)00000B,CO000000000000O0OOOOOOOOOOOOO
D000000a00 (1,0000000000a00b00000(1/3,2/3)0(2/3.
1/3)0000000()3C0000000000000000c000000000
0.0,1/3,2/30000 A, B, CO0O0OO (¢c)Diamond 0 000 00 AaBbCe O O
A20D0D0000ABCOODODOOOOc0O0OOODOD 0.0,1/3,2/30000
00000000000000 0.0+u,1/3+u,2/3+u000000000000

gbOO0b0bO00bO0obO0obdnbdDdOMapled POSCAR(basis,pvec); 00O
OO0 POSCAROODOOOOODOOODOODOOOOUODODODODODOOO
ggboobogggboboogood
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gooooooooooooonooooonooosoooooonogog
OgO0s:=[2, 2, 1]000002x2x10000000000000000Oball
Oo00oooooboooboooooooooobondd primitive vector O O
0000000000000 000o0bOo0oboOgOMapleddOp vec.basis([i]
O0000000oOooooooooo??0 POSCAROOODOOODOO
( Maple 0O DO DODO \
S:=[1,1,1]: # supercell : SxSxS
ball:=[]:
for x from 0 to S[1]-1 by 1 do
for y from 0 to S[2]-1 by 1 do
for z from 0 to S[3]-1 by 1 do
for i from 1 to nops(basis) do
v:=p_vec.basis[i] + p_vec.Vector([x,y,z]);
ball:=[op(ball),v];
end do:
end do:
end do:
end do:
NS J
000000000000 00000D000POSCARODOOOODOODOO balld
Jooooooobbooubbooobbo0bbo0oUub0oUD primitive
vectorUOODOOOO0O0ODOOUOO0O0OOOOO0OOOODOUOUOUprimitive vector
J00b0O000bo0o0ogbobooOouobobboOdMapled O with(LinearAlgebra) : 0
Uo00oooboooobodooooddd MatrixInverse DO OO OOOONO
00000 pvec:=Matrix([a1*S[1],a2*S[2],a3+xS[3]]); 0000000000
O00000000ogogddMapledd ve=ipvec.ball[il; 00000000
O00D00OvasisO0OO0O0O0O0O0OOOPOSCAROOOOODODODOOODODOOO
0on
( Maple DO OO0 \
p_vec:=Matrix([a1*S[1],a2%S[2],a3*S[3]]);
ip_vec:=MatrixInverse(p_vec):
basis:=[]:
for i from 1 to nops(ball) do
v:=ip_vec.balll[i];
basis:=[op(basis),v];
end do:
POSCAR(basis,p-vec) ;
POSCAR
1.00000000000000
3.8669548542748724 0.0000000000000000 0.0000000000000000
-1.9334774271374362 3.3488811390895915 0.0000000000000000
0.0000000000000000 0.0000000000000000 9.4720662513519193
6
Direct
0.0000000000000000 0.0000000000000000 ©0.0000000000000000
0.3333333333333333 0.6666666666666667 0.3333333333333333
0.6666666666666667 0.3333333333333333 0.6666666666666667
0.0000000000000000 0.0000000000000000 ©0.2500000000000000
0.3333333333333333 0.6666666666666667 0.5833333333333333
0.6666666666666667 0.3333333333333333 0.9166666666666667
N J
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[0 OB MapleOOUOOOOOO O
HRERE

O000003CSiICO {111} 0000000000000 000O0 POSCAR
OO0ooo MapleOOOOODOooooog
O00o0Oz??00000POSCAROODOOODOOOODOODOODOODOODOOO
O00O0pwecOOODODODOODDOODO3CSICOOODOOO a=4.37754[0 0000

Maple DO OO0
4 ? )
restart:

with(LinearAlgebra):

Digits:=50:

POSCAR:=proc(ball,p_vec) # for VASP calculation

local v,i;

printf ("POSCAR\n") ;

printf("  1.00000000000000\n") ;

printf (" %1.16f %1.16f %1.16f\n" ,p_vec[1] [1],p_vec[2] [1],p_vec[3][1]):

printf (" %1.16f %1.16f %1.16f\n" ,p_vec[1][2] ,p_vec[2] [2] ,p_vec[3][2]):

printf (" %1.16f %1.16f  %1.16f\n",p_vec[1][3],p_vec[2] [3],p_vec[3]1[3]):

printf("  %d\n",nops(ball)):

printf ("Direct\n"):

for i from 1 to nops(ball) do

v:=balll[il;

printf(" J%1.16f %1.16f Y1.16f\n",v[1],v[2],v[3]);

end do:

end proc:

a0:=4.37754;

= sqrt ((0.5%a0) "2+(0.5%a0) "2+(0.0)"2) ;
c := sqrt(3.0%((a0)"2));
= sqrt(3.0%((a0/4)"2))/c;

al:=Vector([a,0.0,0.0]):

a2:=Vector([-a*0.5, a*0.5%sqrt(3),0.0]):

a3:=Vector([0.0,0.0,c]):

p_vec:=Matrix([al,a2,a3]);

N J
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gboooooooooooooboobobobobobobobo?»?0bOoD
gobbobooodgbbodd

U
Maple DO OO0

4 ? )
basis:=[Vector([1/3, 2/3, 1/3-ul),

Vector([2/3, 1/3, 2/3-ul),

Vector([0.0, 0.0, 3/3-ul),

Vector([0.0, 0.0, 0.0]),

Vector([1/3, 2/3, 1/3]1),

Vector([2/3, 1/3, 2/3]1)

1:

|

=
y
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e
K
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0
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o
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75
e

i;
W

s

\

o,
v‘mm%mm'a
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v
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\l/
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o

O B.1: 3C-sicODOOOO0O0O0O
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goboooboobooooooo?»2obobboooooobobooooooon
goOQ0OoD3CsiCOboboboooooboboPOSCAROODODODOOOOODDODOO
00 Silicon, 000 Carbon OO0 0000000 ODOOOODOODOOODOOODOO
Silicon:=[]: Carbon:=[]:0000000000000vall0000O0O0O0OO
gbobooobobooboboboobobodbuobetbbbObOl cmax
000000000000 {111}0000000000000000cmax000
O00O0Obmax0 if0000evalf D0 OO0OO0OOMapleDODOif sqrt(2)<2

a
thenOOUOOOOOOOOOOOOOOOoOnO
( Maple DO O OO \

S:=[1,1,1]: # supercell : SxSxS
Silicon:=[]: Carbon:=[]:
a_max:=0: b_max:=0: c_max:=0:
N:=nops(basis):
for x from 0 to S[1]-1 by 1 do
for y from O to S[2]-1 by 1 do
for z from 0 to S[3]-1 by 1 do

for i from 1 to N do
v:=p_vec.basis[i] + p_vec.Vector([x,y,z]);
if i<N*0.5+1 then
Silicon:=[op(Silicon),v];
else
Carbon:=[op(Carbon) ,v];
end if:

if v[1]>a_max then a_max:=v[1]: end if:
if evalf(v[2])>evalf(b_max) then b_max:=v[2]: end if:
if v[3]>c_max then c_max:=v[3]: end if:

end do:

end do:
end do:
end do:
ball:=[op(Silicon), op(Carbon)]:

N J
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Maple DO OO0
p_vec:=Matrix([a1*S[1],a2*S[2],bulk+vacuum]);
#p_vec:=Matrix([al1*S[1],a2%S[2],a3*S[3]]); #0000 000 PoscARO OO OOODOOODO

vacuum:=Vector([0.0, 0.0, valuex*2]);
bulk:=Vector([0.0, 0.0, c_max]);

value:=12:

|

vacuum

bulk

vacuum

[11174

ciH|

U B2 0000000000DOO0ODOODO
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O00Oprimitive vector 000000000000 ODO0OOOODOOPOSCAR
goooooooooooooodooooooooobooog ecoooboono
0000000004 yv:=ip_vec.(ball[i]4+0.5*vacuum); 00000000 COOO
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDPOSCARDDD
O0000e0000000O01Ix1x100D0003C-SiICOO00nooOoOoooOoad
godoooooo3300goooooooon
( Maple DO OO0 \

ip_vec:=MatrixInverse(p_vec):

basis:=[]:

for i from 1 to nops(ball) do

v:=ip_vec. (ball[i]+0.5*vacuum) ;
basis:=[op(basis),v];

end do:

POSCAR(basis,p-vec) ;

POSCAR

1.00000000000000
3.0953882189153592 0.0000000000000000 0.0000000000000000
-1.5476941094576796 2.6806848321557684 0.0000000000000000
0.0000000000000000 0.0000000000000000 29.6865912691237973
6
Direct
0.3333333333333333 0.6666666666666667 0.4255066996353037
0.6666666666666667 0.3333333333333333 0.5106419000520995
0.0000000000000000 0.0000000000000000 0.5957771004688953
0.0000000000000000 0.0000000000000000 0.4042228995311047
0.3333333333333333 0.6666666666666667 0.4893580999479005
0.6666666666666667 0.3333333333333333 0.5744933003646963

00000000 MapleOOODODODOOOOOOOOOO
[ Maple OO DODO0O \

restart:

with(LinearAlgebra) :

Digits:=50:

POSCAR:=proc(ball,p_vec) # for VASP calculation

local v,i;

printf ("POSCAR\n") ;

printf (" 1.00000000000000\n") ;

printf (" %1.16f %1.16f %1.16f\n" ,p_vec[1] [1],p_vec[2] [1],p_vec[3][1]):

printf (" %1.16f %1.16f %1.16f\n" ,p_vec[1][2] ,p_vec[2] [2] ,p_vec[3][2]):

printf (" %1.16f %1.16f  %1.16f\n",p_vec[1][3],p_vec[2][3],p_vec[3]1[3]):

printf("  %d\n",nops(ball)):

printf ("Direct\n"):

for i from 1 to nops(ball) do

v:=balll[il;
printf(" J1.16f %1.16f Y1.16f\n",v[1],v[2],v[3]);
end do:

end proc:
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( Maple DO OO0

a0:=4.37754;

1= sqrt ((0.5*%a0) "2+ (0.5%a0) "2+(0.0)"2) ;
sqrt (3.0%((a0)"2));
sqrt (3.0%((a0/4)"2))/c;

e 0 p
]

al:=Vector([a,0.0,0.0]):
a2:=Vector([-a*0.5, a*0.5%sqrt(3),0.0]):
a3:=Vector([0.0,0.0,c]):
p_vec:=Matrix([al,a2,a3]);

basis:=[Vector([1/3, 2/3, 1/3-ul),
Vector([2/3, 1/3, 2/3-ul),
Vector([0.0, 0.0, 3/3-ul),
Vector([0.0, 0.0, 0.0]),
Vector([1/3, 2/3, 1/31),
Vector([2/3, 1/3, 2/3])
1:

S:=[1,1,1]: # supercell : SxSxS
Silicon:=[]: Carbon:=[]:
a_max:=0: b_max:=0: c_max:=0:
N:=nops(basis):
for x from O to S[1]-1 by 1 do
for y from 0 to S[2]-1 by 1 do
for z from O to S[3]-1 by 1 do

for i from 1 to N do
v:=p_vec.basis[i] + p_vec.Vector([x,y,z]);
if i<N*0.5+1 then
Silicon:=[op(Silicon),v];
else
Carbon:=[op(Carbon) ,v];
end if:

if v[1]>a_max then a_max:=v[1]: end if:
if evalf(v[2])>evalf(b_max) then b_max:=v[2]: end if:
if v[3]>c_max then c_max:=v[3]: end if:

end do:

end do:
end do:
end do:
ball:=[op(Silicon), op(Carbon)]:

value:=12:

vacuum:=Vector([0.0, 0.0, valuex*2]);

bulk:=Vector([0.0, 0.0, c_max]);

p_vec:=Matrix([a1*S[1],a2*S[2],bulk+vacuum]);
#p_vec:=Matrix([a1*S[1],a2*S[2],a3*S[3]]); #0000 000 POSCARO OO OOOOOOO

ip_vec:=MatrixInverse(p_vec):

basis:=[]:

for i from 1 to nops(ball) do
v:=ip_vec. (ball[i]+0.5*vacuum) ;
basis:=[op(basis),v];

end do:

N
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0 OC MayallOOOOO

O0000O0OMayaOOOOOOOOOOOOOOOOOOOOOOOOO

C1l 0OOooon

0000000000 000000000000000000DO0??0000
goooooooog

[togase-kensuke-no-macbook-pro-2:~/Desktop/maya_test] togal ls
anime.rb* lib/ plot.mel

data/ outcar.rb* poscar.rb*
[togase-kensuke-no-macbook-pro-2:~/Desktop/maya_test] togal

o xrbDETT 7 A ILDIER

Ruby
) poscar.rb, outcar.rb, anime.rb%
e ARV ROEAT
p $ ruby poscar.rb data/4H-SiC.txt
MEL o xmel7 71 ILDER
) output > plot.mel
Sl ANV ROERS
p $ open plot.mel
Ma)’a 4% Mayalc £ 21881k

O Cl: MayaODOOOOOOODOO
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000000000000 data/000000000O0O0DOO0O0O0O0O0OO0OO0OOOO0O0O0OCDO1ip/0000000
gdbo0o0OO0oO0o0o0000O0O0O00000O0O0000000O0000poscar.rb, outcar.rb, anime.xb 0000000
0000000000plot.mel O0+.rb 0000000000 MELOODOOOOOOODO??20000000%.rb0O
O0000+*.mel 0000 MayaOOOOOOOOOODOO1ip/000000000000C00

lib/

[togase-kensuke-no-macbook-pro-2:~/Desktop/maya_test] togal 1ls lib/
Calculation.rb* Maya.rb input.rb
Calculation.rb™* Maya.rb™ input.rb™

C.2 0O0O0Oooooooon

000000000000 poscar.rb, outcar.rb, anime.rb 00000000 Oposcar.rb O VASP O POSCAR
00000000oooooooooo0oOo0ObDOO 4H-SiCO00000000D0OO0O000 4H-sic.txt0O00O0O0OO

[togase-kensuke-no-macbook-pro-2:~/Desktop/maya_test] toga) cat data/4H-SiC.txt
4H-SiC_fix_k=0.1_toga
1.00000000000000
3.0935700000000000
-1.5467850000000000
0.0000000000000000

0.0000000000000000 0.0000000000000000
2.6791102083854259 0.0000000000000000
0.0000000000000000 10.1287000000000000

4 4
Direct
0.0000000000000000 0.0000000000000000 0.0000000000000000
0.0000000000000000 ©0.0000000000000000 0.5000000000000000
0.3333333333333333 0.6666666666666667 0.2500000000000000
0.6666666666666667 0.3333333333333333 0.7500000000000000
0.0000000000000000 0.0000000000000000 0.1874200000000000
0.0000000000000000 0.0000000000000000 0.6874200000000000
0.3333333333333333 0.6666666666666667 0.4374200000000000
\\7 0.6666666666666667 0.3333333333333333 0.9374200000000000 A/

OO0O0Oposcarrb 0000000000000 RubyOOOOOOOOOOO0OO0OO pp, 00000000 matrix,
0000000000 00000 Math OODODOOOODOOO0OODOOOO0O0OODOOODOOD input.rb, Calculation.rb,
Maya.rb OO O0O0O0O

poscar.rb
4 )

require ’pp’
require ’matrix’
include Math

Dir.chdir("lib")do # 1lib/0 path 000000000 O0O0O0OOOO
require ’input’
require ’Calculation’
require ’Maya’

end

N J

0000 x.mel 00000000 DOO0O0OO0OO0O0ODOOOO0OOOOOOODOOOOOOOOOODOO CalcOOOOOO
000000 POSCAROUOOOODOOOOprimitive vector 0000000000000 OOOOODO 4H-SiCOOOO
000000Si0 CcCOo00b00o00dd0Omodel.atomO000atom0 0 atoml 000000000 0O0OOOODOOO 4
40000000000 Si00000000 CO0000000000000000 atomO00O SidO0O0Oatoml O C
0000000 Sid00000 model.celllatom0] OO0 COOOOOO model.celllatoml] OO O ODOOOOOODO
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poscar.rb
[ )

filename = ’plot.mel’ #*mel 00000000000

infile = ARGV[O0] # O000000OOoooocooooooo

model = Calc.new(infile) # Calculation.rb 000 Calc 0O ODDOODDOODOOO medel DO ODODOO
model.input (POSCAR) # CalcUO0OD0 input 0000000 O0O0O0OOPOSCAROOOOOOOOODOO

O000Oinput.rb 00 POSCAROOOO0O0O0ODOOOO

# model.p_vec Primitive vector OO0

# model.atom OO OOOO atom0, atoml.. OO OOO0O
# model.cell JOO0OO0O0OO0OO0O0OOOO

J

0000000000000 00o0dooo0oo0oD0oDo0oooo0oU0oooooooooooooooon
0000 MayaOOOOOOO??(a)00000000000000 ¢c00000D0'00'000000O0Maya00
O0??7(b) 000000 y0ODOOOOD'0D' 000000000000 0OOOOOOOO0ODOOOODOO MayaO
O000a00 x0O00bOOD zO00OcOOD yOOOODODDODODOODODDOODODOOODDOOODODODODODOO??Z00000
0 model.vicualcoordinateunitcell O UODOUODODUO0OOOOO0ODOOODODOO0ODOOOODOODOODOODOOOO
??() 0000000000000

poscar.rb

s = [[-0,0],[-0,0],[-0,0]1] # 00000000000 0000O0DODOD [0, cO, pOJOODOOO
ooooooo

model.supercell(s) # 00000000

model.visualcoordinate_unitcell # OO0 0D00OODO0OODOOOO

4C A)’

Vo
v X

(a) FESRIEF Da, b, i (b) Maya_LDx, y, z#h

0 C2: 00000 MayaOOO(a)00000 a, b, c00(b)Mayal x,y, z0 0O
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@ ‘ S 10,0111

(c) s=[[-0,0],[-1,0],[-0,0]| D &. (d) s=[[-0,0],[-0,11,[-0,0]] D .

0 C3: 000000000 000000000 (a)s=[[-0,0],[-0,0],]-0,0]]
000 (b)s=[[-1,1],-0,0],[-1,1]] O O O (c)s=[[-0,0],[-1,0],[-0,0]] O O O (d)s=[[-0,0],[-
0,1],/-0,0] 0 0 O

@ BHER LOETERE. b BEERLOETEESRT

0 C4:0000000000O00O0OO0Ovisualcoordinate_unitcelO OO OOO
O00000(x)oOoOMmooo
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oo0o00oOo0o00oO0O00b00O000 MayaOOOOOOOOOMELOOOOOOOOODOOOOOBGDOOO
0o0o00o00o0o0o0000000o00o00oooo0o0o0o00o0o00o00OMaya0 00000 color_lambert
O colorblinn O000O000lambert 000000000 ORIinn O000000O00COO0O0O0O0O0OOOOCOOOO
00 RGBOOODOODOOODOODOODODODODODOODOD0OODOODODODOOODOO [Red, Green, Bluel 00000000
oooooo0100000000000000D00O00O0OCcolor lambert([1.0, 1.0, 0.0]1) 000000000000
0o00000bo0o00o0ob0o00o0bD0b0o0obO0b000bO0DbDO0Dn color_incandescence, color_transparency [J
oooooooooOoooooOO0 RGBOUOOOOOOOOOOOOOOODOOOOOODOOODO

poscar.rb
é )

main = Maya.new(filename)

color = Array.new

color[0] = main.color_lambert([1.0,1.0,1.0]) # background
main.color_incandescence(color[0],[0.5,0.5,1.0]) # ODOOO0O

# main.color_transparency(color[0],[0.4,0.4,0.4]) # OO0OOOO

color[1] = main.color_blinn([0.2,0.2,1.0]) # Si color
color[2] = main.color_blinn([0.4,0.4,0.4]) # C color
color[3] = main.color_lambert([0.95,0.95,0.95]) # bond
main.color_incandescence(color[3],[0.2,0.2,0.2])

color[4] = main.color_lambert([1.0,0.0,0.0]) # wireframe

J

gooooooooboooooooOoDOOOOOODOODODODOO0OOO0000000000O0Oo0bject000O0O0O0OOO
goooO0oboOo0O00o0ooOobOO0000ooo0o0oOoO000o0o0O00b00000000000 translate 00 ,0scale
OOO0OrotateD00OO0OO0OO0OO0OO0OOOOOOOOOOOOOOOOOOOOOCOOOOODOODOOOOOOOOOOOOODO
000 xyz) 0000000000 DO0OO0ODOOOOOO0OODOO0 MELOOODOOOOOOOOOOOOOOO]0,0,0]
gooooooooooboooooooooooooboboOoOoOoOooooooOObOObOOUOoOoOoOoOoDObOObObOOOOoO

poscar.rb

background = main.object(’sphere’,color[0])
main.translate(background, [0,0,0])
main.scale(background, [500,500,500])

O Cl:object U0 ODOODOODOOODOODOODOODODODOOODOODO

gboboud (jggdbbbooodb

sphere O
cylinder 00
cone 0o

nurbsCube ood
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000000000 CGULUUUOO0O0UUO0OO0UUOOOOobject D00 OODOOOOUODOOOOOULDOO
0000000000000 0000000000000O0vYal1 000 stick 00O 00OOball DOO0OOCOOOO
ooooooooOooOoo0o0oU00oU0O0o0O0OD (OO0)0DL0O0O0O00O0OD0O0ODO0OD0OO0O0O0O0 MELOOO
0000000000 stick 000000000000 0OO0O0O0OO0O00OOOO00OOO0O0OO0OO000ODOOOOOOOOO
goooooOoOooOoOopoOooOoosiCcOoooOooOOOO0OO0O0OO0O000n stick(Si_position, C_position, color,
[1.0,0.1,0.1]) 000000008i000000OOstick(Si_position, Si_position, color, [1.0,0.1,0.1]) 0O
Jdo0oooooooo0ooon [a, b, cl]J000000a0000000b=c00000000000O0O0O

( poscar.rb \
c=0
model.atom.each do |h|
main.ball(model.cell[h],h,color[c+=1],[0.5,0.5,0.5])
end

#main.stick(model.cell[model.atom[0]] ,model.cell[model.atom[0]],color[3],[1.0,0.1,0.1])
main.stick(model.cell[model.atom[0]] ,model.cell[model.atom[1]],color[3],[1.0,0.1,0.1])

N J

oooooooooooooooooooooooooooooDObOO0O0O0Ob00O0O0000OPrimitive vector O
0000000000000 000wireframe 0000000000 OPrimitive vector JO0O0O0O0O0D0DODOODODO
ooboooooooooooboOo0o0o0oooooooobo0o0n Primitive vector UOOOOOOOOOOODODODO
oo0o0ooooooobooboooooooo

poscar.rb

main.wireframe (model.p_vec,color[4])
# a = Vector[5.0, 0.0, 0.0]

# b = Vector[0.0, 5.0, 0.0]

# ¢ = Vector[0.0, 0.0, 5.0]

# tmp = Matrix[a, b, c]

# main.wireframe(tmp,color[4])

ooboooboooobbenda000O0O0OCOOOOOOOOOO0OOOODOODOOOOOOOOOOOOOOODODOOOO
oobo0o0ooooOoOoO0OooOoO0OOoO0OoooOo0o

poscar.rb

main.end
puts ’output > ’+filename

0000000 pescar.rb 0000000000000 DOO0O0O0DOOOOOODOOOO??0000
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poscar.rb

require ’pp’
require ’matrix’
include Math

Dir.chdir("1lib")do
require ’input’
require ’Calculation’
require ’Maya’

end

main

filename = ’plot.mel’
infile = ARGV[O0]

model = Calc.new(infile)
model . input (POSCAR)

s = [[-0,0],[-0,0],[-0,0]]
model.supercell(s)
model.visualcoordinate_unitcell

main = Maya.new(filename)

color = Array.new

color[0] = main.color_lambert([1.0,1.0,1.0])
main.color_incandescence(color[0],[0.5,0.5,1.0])
# main.color_transparency(color[0],[0.4,0.4,0.4])

color[1] = main.color_blinn([0.2,0.2,1.0])

color[2] = main.color_blinn([0.4,0.4,0.4]) # C color
color[3] = main.color_lambert([0.95,0.95,0.95]) # bond
main.color_incandescence(color[3],[0.2,0.2,0.2])

# Si color

color[4] = main.color_lambert([1.0,0.0,0.0]) # wireframe

background = main.object(’sphere’,color[0])
main.translate(background, [0,0,0])
main.scale(background, [600,500,500])

c=0

model.atom.each do |hl|
main.ball(model.cell[h],h,color[c+=1],[0.5,0.5,0.5])

end

#main.stick(model.cell[model.atom[0]] ,model.cell[model.atom[0]],color[3],[1.0,0.1,0.1])
main.stick(model.cell[model.atom[0]] ,model.cell[model.atom[1]],color[3],[1.0,0.1,0.1])

main.wireframe (model.p_vec,color[4])
# a = Vector[5.0, 0.0, 0.0]

# b = Vector[0.0, 5.0, 0.0]

# ¢ = Vector[0.0, 0.0, 5.0]

# tmp = Matrix[a, b, c]

# main.wireframe (tmp,color[4])

main.end

puts ’output > ’+filename
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00000000000 COoutcar.xrb 00000000 Ooutcar.rbd VASPO OUTCAROOOOOOOOOOOOO
0000000000000 0000000000000000000000 si00POOOOOOOOO (SF-Si+P)
0000000000000 SF-8i+P.txt 00?7?2000 Ooutcar.xrb 000000 OOOOposcar.rb O outcar.rb O
000000 model.input(POSCAR) 0000 OO model.input(OUTCAR) OO0 O0OO00O0O0O0O0O SF-Si+P 0 8i 0
15000p000000000000C000O0O0O00C0O0O0O0OO00O0C0O0Osi-si00000000 main.stickd Si-P
0000000 main.stick 0000000000000 outcar.rb 000000000000 OO???20000

SF-Si+P

VOLUME and BASIS-vectors are now :

energy-cutoff :
volume of cell :

direct lattice vectors

3.881665793 0.000000000 0.000000000
-1.940832897 3.361621186 0.000000000
0.000000000 0.000000000 24.848822609

length of vectors

3.881665793 3.881665793 24.848822609

atoms: 151

POSITION

0.00000
0.00000
0.00000
0.00000
1.94083
1.94083
0.00000
0.00000
0.00000
0.00000
0.00000
0.00000
0.00000
1.94083
1.94083
0.00000

0.00000
0.00000
2.24108
2.24108
1.12054
1.12054
0.00000
0.00000
2.24108
2.24108
0.00000
2.24108
2.24108
1.12054
1.12054
0.00000

1000.00
324.24

reciprocal lattice vectors

0.257621355 0.148737758 0.000000000
0.000000000 0.297475517 0.000000000
0.000000000 0.000000000 0.040243355

0.297475517 0.297475517 0.040243355

TOTAL-FORCE (eV/Angst)

0.000000 -0.003272
0.000000  0.000889

0.000000  0.000482

0.000000  0.009053

0.000000  0.003448

0.000000 -0.002254
0.000000 -0.001225
0.000000 -0.003990
0.000000 0.003835
0.000000 0.017192
0.000000 -0.007655
0.000000 -0.016639
0.000000 0.002440
0.000000 0.005961
0.000000 -0.006121
0.000000 -0.002144

total drift:

-0.05555 0.000000
2.31160 0.000000
3.09264 0.000000
5.46004 0.000000
6.24255 0.000000
8.61103 0.000000
9.39171 0.000000
11.76037 0.000000
12.51938 0.000000
14.87940 0.000000
17.79137 0.000000
18.49790 0.000000
20.86744 0.000000
21.64482 0.000000
24.01281 0.000000
15.51591 0.000000
0.000000

0.000000 -0.000652

O Cé6: SF-Si+bPtxt 000 00DO0OO0O0O0O0O0OO0ODO0ODOOOOOOODOODO
OO0o0OODOobDOoOvVASPOOOOOOOO OUTCARODOOODOOODOOO
OooUTCARODODOODOODODOOOOoOOoOooboboboboo
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poscar.rb

require ’pp’
require ’matrix’
include Math

Dir.chdir("1lib")do
require ’input’
require ’Calculation’
require ’Maya’

end

main

filename = ’plot.mel’
infile = ARGV[O0]

model = Calc.new(infile)
model.input (QUTCAR)

s = [[-0,0],[-0,0],[-0,0]]
model.supercell(s)
model.visualcoordinate_unitcell
model.reciprocal

main = Maya.new(filename)

color = Array.new
color[0] = main.color_lambert([1.0,1.0,1.0])
main.color_incandescence(color[0],[0.5,0.5,1.0])

color[1] = main.color_blinn([0.2,0.2,1.0]) # Si color
color[2] main.color_blinn([0.2,1.0,0.2]) # P color
color[3] = main.color_lambert([0.95,0.95,0.95]) # bond
main.color_incandescence(color[3],[0.2,0.2,0.2])

color[4] = main.color_lambert([1.0,0.0,0.0]) # wireframe

background = main.object(’sphere’,color[0])
main.translate(background, [0,0,0])
main.scale(background, [500,500,500])

c=0
model.atom.each do |h|
main.ball(model.cell[h],h,color[c+=1],[0.5,0.5,0.5])

end

main.stick(model.cell[model.atom[0]],model.cell[model.atom[0]],color[3],[1.0,0.1,0.1])
main.stick(model.cell[model.atom[0]] ,model.cell[model.atom[1]],color[3],[1.0,0.1,0.1])

main.wireframe (model.p_vec,color[4])
main.end

puts ’output > ’+filename

N
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--- nurbsCylinder62

Autodesk Maya 2008: /Users/toga/Desktop/maya_test/plot.mel
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000 anime.ro 00000000 0anime.xo 00000000 O00O0OODOOOOOOOO0O0OODOOanime.rb 0O
0000000000000 00000000DLO0000O0D0D000lanime 0 000D O0OO0O0OODOOOOOODODODOO
goooooooooooox,y,zZ] DOOOOOOOOt, s, rO000000O0OO0OOODOOOOOOOOODOO
ooooooooooon [x,y,z] DO00O0O0O0O00O0O00O00C0O0O0O0O0O0O000O0O000 ord0 ( t=toranslate
)OOODOD ( s=scale )OODOODO ( r=rotate ) U0U0anime.xb 00000000000 OODOO??20000

-

require ’pp’
require ’matrix’
include Math

Dir.chdir("1lib")do
require ’input’
require ’Calculation’
require ’Maya’

end

poscar.rb
«\

main

filename = ’plot.mel’
main = Maya.new(filename)

color = Array.new

ball = main.object(’sphere’,color[0])
main.scale(ball, [0.5,0.5,0.5])

cube = main.object(’nurbsCube’,color[1])
main.scale(cube, [2.0,10.0,2.0])

range = 1.0
24.times do |il
x = 2xcos(i)
y = 24.0/(24.0-i.to_f)
z = 2%sin(i)
main.anime(i,ball, [x,y,2],’t?)

end
main.end

puts ’output > ’+filename

color[0] = main.color_blinn([1.0,1.0,0.0])
color[1] = main.color_lambert([0.0,1.0,1.0])
main.color_transparency(color([1],[0.4,0.4,0.4])

main.anime(i,ball, [0.5%y,0.5%y,0.5%y],"’

s’)
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C3 O0ooog

000000000000 input.rb, Calculation.rb, Maya.rb 0O OO00OO0O0OOOOOO
input.rb OOPOSCAROOUTCAR 000 I UIODO0O0OODODODDOO0OODOOOOO0OON0OUOOOOOOOOooooOO
OO0OO0OPOSCAR, OUTCARO OO OODOODOOOOOO

input.rb
4 h

POSCAR = lambda do |infile,datal # POSCARO O OO
text = infile.split(/\n+/)
i = 0; box=[]; numbers=[]
while i<text.size do
if text[i]="/Direct/ then
if text[i-1]="/Selective dynamics/ then
flag = i-1
else flag = i
end
3.times do |jl
a = text[flag-4+j].split(/ +/)
box.push Vector([a[1l].to_f,a[3].to_f,al2].to_f]
end
data.p_vec = Matrix[[box[0][0], box[2] [0], box[1][0]],
[box[0][1], box[2][1], box[1]1[1]],
[box[0][2], box[2][2], box[1][2]]1]
a = text[flag-1].split(/ +/)

while (tmp=a.pop)!="" do # 000000000
numbers.unshift tmp.to_i

end

head = 0

numbers.each do |num|
data.atom.push ’elem’+head.to_s
data.cell[’elem’+head.to_s] = []
num.times do
a = text[i+1].split(/ +/)
vec = Vector[a[1].to_f, a[3].to_f, a[2].to_f]
data.cell[’elem’+head.to_s].push data.p_vecxvec
i+=1
end
head += 1
end
break
end
i+=1
end
end

- J
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i t.rb
(" inpu

OUTCAR = lambda do |infile,datal|# OQUTCARO O OO
text = infile.split(/\n/)
i = 0; box=[]; numbers=[]
while i<text.size do
# Primitive Vectors(direct lattice vectors) DO O OO0
if text[i]="/direct lattice vectors/ then
i.upto(i+2) do |kl
a = text[k+1].split(/ +/)
box.push Vector([a[1].to_f,a[3].to_f,al2].to_f]
end
data.p_vec = Matrix[[box[0] [0],box[2] [0],box[1][0]],
[box[0] [1],box[2] [1],box[1][1]1],

[box [0] [2] ,box[2] [2],box[1] [2]]]
end

if text[i]="/atoms:/ then # 0O OOOOOODO
a = text[il.split(/ +/)
while (tmp=a.pop)!=’atoms:’ do
numbers.unshift tmp.to_i
end
end

if text[i]="/POSITION/ then # DO D0O0OOOO
head = 0
numbers.each do |num|
data.atom.push ’elem’+head.to_s
data.cell[’elem’+head.to_s] = []
num.times do
a = text[i+2].split(/ +/)
vec = Vector[a[1].to_f,a[3].to_f,a[2].to_f]
data.cell[data.atom[head]].push vec
i+=1
end
head += 1
end
break
end
i+4=1
end
end

N

Calculation.yb 00 0O0O00000O0O0O0O0O0O0O0COOO0O0OCOOOOOOCOOOOOCOOOOOO
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class Calc
attr_accessor :cell, :p_vec, :r_vec, :atom
def initialize(filename)
@infile = File.read(filename)
Q@cell = Hash.new
Q@atom = Array.new
end
def input(input_formatter)
input_formatter.call(@infile,self)
end
def bondlength(a,b)
len = 999
a.each do |v1]|
b.each do |v2|
tmp = vi-v2; 1 = tmp.r
if 10**(-3)<1 && 1l<len then len =
end
end
return len
end
def visualcoordinate_unitcell
box = {’tff’=>[ Vector[1,0,0] ],
’ttf’=>[ Vector[1,1,0],
’tft’=>[ Vector[1,0,1],
’ftt’=>[ Vector[0,1,1],
’ttt’=>[ Vector[1,0,0],
Vector[1,1,0],
mi = @p_vec.inverse
@atom.each do |nl|
@cell[n].size.times do |il
b = mi*@cell[n] [i]
head = 7
3.times do |jl
if b[jI>-10%*(-4)&&b[j1<10**(-4) then

1 end

head += ’t’
else

head += ’f’
end

end
if box.key?(head) then
box [head] .each do |v|
@cell[n] .push Qcell[n] [i]+@p_vec*v
end
end
end
end
end
def supercell(s)
@atom.each do |h|
n = Qcell[h].size
for x in s[0][0]..s[0][1] do
for y in s[1][0]..s[1]1[1] do
for z in s[2][0]..s[2][1] do
if x==0&&y==0&&z==0 then next end
n.times do |il

Calculation.rb

ftf’=>[ Vector[0,1,0] 1,
Vector[1,0,0],
Vector[1,0,0],
Vector[0,1,0],
Vector[0,1,0],
Vector[1,0,1],

fft’=>[ Vector[0,0,1] 1],
Vector[0,1,0] 1,

Vector[0,0,1] 1,

Vector[0,0,1] 1,

Vector[0,0,1],

Vector[0,1,1], Vector[1,1,1]1]1}

@cell[h] += [@cell[h] [i]+@p_vec*(Vector[x,y,z])]

end
end
end
end
# @cell[h].uniq!
end
end
# 0000000
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def inner(a,b) #O0O
t =0.0
3.times do |il
t += alil*b[i]
end
return t
end
def cross(a,b) #O0O
el = a[1]*b[2]-a[2]*b[1]
e2 = a[2]*b[0]-a[0]*b[2]
e3 = al[0]*b[1]-a[1]*b[0]
return Vector[el,e2,e3]
end
def reciprocal
al = @p_vec.column(0)
a2 = @p_vec.column(2)
a3 = @p_vec.column(1)
al = Vector[al[0],a1[2],a1[1]]
a2 = Vector[a2[0],a2[2],a2[1]]
a3 = Vector[a3[0],a3[2],a3[1]]

# 0000000 (reciprocal vector) OO ODO0O

# 00 2«PI DO00O0O0D00OO0O0OO0O0O0OOOOO0ODODOOODOOO

# VASPOOOOOO OUTCAROOOODOODOODOO 2«PI O0OOODOODOO

#Ref: 00000000000 DOOOOOOOOOOOOUDOOO

# OcCharles Kittel 00 000000000000 O000O0O0DOO0OOODOODOO (2005), p320

bl = ( 1.0 / inner( al, cross(a2,a3) ) ) * cross(a2,a3)
b2 = ( 1.0 / inner( a2, cross(a3,al) ) ) * cross(a3,al)
b3 = ( 1.0 / inner( a3, cross(al,a2) ) ) * cross(al,a2)

bl = Vector[b1[0],b1[2],b1[1]]
b2 = Vector[b2[0],b2[2],b2[1]]
b3 = Vector [b3[0],b3[2],b3[1]]

@r_vec = Matrix[b1l,b3,b2]
end
def gui(dataname)
slider_sphere_scale(dataname)
end
end

N
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class Maya < Calc
$color_lambert_count =
$color_blinn_count = 0
$object_count = -1

0

$object_flag = {’t’=>true,’s’=>true,’r’=>true}
$anime_flag = {’t’=>true,’s’=>true,’r’=>true}

$cylinder_proc_count = 0
$ball_proc_count = 0
$wire_frame_count = O

$sphere_object_count =1
$cylinder_object_count = 1
$slider_sphere_scale_count = 1
def initialize(filename)

@f = File.open(filename,’w’)

end
def end

@f .close
end

def color_lambert(rgb) # 0O OO
cc = ($color_lambert_count += 1)
@f .printf ("shadingNode -asShader lambert;\n")
@f .printf ("sets -renderable true -noSurfaceShader true -empty -name lambert’%dSG;\n",cc)
@f .printf ("connectAttr -f lambert’d.outColor lambert’dSG.surfaceShader;\n",cc,cc)
@f .printf ("select -r lambertd;\n",cc)
Of .printf("setAttr \"lambert%d.color\" -type double3 %1.5f %1.5f %1.5f;\n",
cc,rgb[0],rgb[1],rgb[2])
return tmp = ’lambert’+cc.to_s
end
def color_blinn(rgb) # 0OOOO0DOOO
cc = ($color_blinn_count += 1)
@f .printf ("shadingNode -asShader blinn;\n")
@f .printf("sets -renderable true -noSurfaceShader true -empty -name blinn’dSG;;\n",cc)
@f .printf ("connectAttr -f blinnjd.outColor blinn}dSG.surfaceShader;\n",cc,cc)
@f .printf("select -r blinn%d;\n",cc)
@f .printf ("setAttr \"blinn¥%d.color\" -type double3 %1.5f %1.5f %1.5f ;\n",
cc,rgb[0],rgb[1],rgb[2])
return tmp = ’blinn’+cc.to_s
end
def color_transparency(color,rgb) # 0O OO0
@f .printf ("select -r %s;\n",color)
@f .printf("setAttr \"%s.transparencyR\" %1.5f;\n",color,rgb[0])
@f .printf ("setAttr \"Ys.transparencyG\" %1.5f;\n",color,rgb[1])
@f .printf ("setAttr \"%s.transparencyB\" %1.5f;\n",color,rgb[2])
end
def color_incandescence(color,rgb) # OO
@f .printf("select -r %s;\n",color)
@f .printf ("setAttr \"/s.incandescenceR\" %1.5f;\n",color,rgb[0])
Of .printf ("setAttr \"/s.incandescenceG\" %1.5f;\n",color,rgb[1])
@f .printf ("setAttr \"/s.incandescenceB\" %1.5f;\n",color,rgb[2])

end
def object(obj,color) # 00000 OOOOball, stick, cube, plane, cone [
name = ’object’+($object_count+=1).to_s

@f .printf ("string $%s[];\n",name)
@f .printf("$%s = ‘%s‘;\n",name,obj)
@f .printf("sets -e -forceElement %sSG;\n",color)
return name
end
# 0000000
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def translate(name,xyz) # 000000000 (0DO)
position_scale_rotate(’t’,name,xyz)
end
def scale(name,xyz) # 0000000 0OOO0O
position_scale_rotate(’s’,name,xyz)
end
def rotate(name,xyz) # 000000000
position_scale_rotate(’r’,name,xyz)
end
def position_scale_rotate(tag,name,xyz)
if $object_flagltag] then
@f .printf ("global proc object_}s(string $names[],float $x,float $y,float $z)\n",tag)
@f .printf ("{\n")
Of .printf ("setAttr ($names[0] + \".%sx\") $x;\n",tag)
@f .printf ("setAttr ($names[0] + \".%sy\") $y;\n",tag)
@f .printf ("setAttr ($names[0] + \".%sz\") $z;\n",tag)
of .printf("}\n")
$object_flagltag] = false
end
@f .printf ("object_%s($%s,%7.5f,%7.5£,%7.5£) ;\n" ,tag,name,xyz[0] ,xyz[1] ,xyz[2])
end
def anime(time,name,xyz,tag)
# time 0000000000 OODOODODO
# name [0 object OO OO name
# xyz0OOOOOODODO translate, scale, rotate 00000000 [x,y,x]
# tagO0O00O0OO00OO00ODO translate, scale, rotate JOJOO0DO0O00OODOOOO0O0OOt, s, x> 000
ooo
# t=translate, s=scale, r=rotate J OO0
if $anime_flagl[tag] then
@f .printf ("global proc anime_%s(string $names[],int $c_time,float $x,float $y,float $z)\n"
of .printf ("{\n")
@f .printf ("currentTime $c_time;\n")
of .printf ("setAttr ($names[0] + \".%sx\") $x;\n",tag)
@f .printf ("setAttr ($names[0] + \".%sy\") $y;\n",tag)
Of .printf("setAttr ($names[0] + \".%sz\") $z;\n",tag)
Of .printf ("setKeyframe -at \"%sx\" $names[0];\n",tag)
@f .printf ("setKeyframe -at \"%sy\" $names[0];\n",tag)
@f .printf ("setKeyframe -at \"%sz\" $names[0];\n",tag)
@f .printf ("}\n")
$object_flagltag]l = false
end
@f .printf("anime_Y%s($%s,%d,%7.5£,%7.5f,%7.5f) ;\n" ,tag,name, time,xyz[0] ,xyz[1],xyz[2])
end
#0 0000000
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def ball(ball,name,color,scale) #0000 0000 O0ball OO
dd = $ball_proc_count
$ball_proc_count += 1
@f .printf("global proc make’d_%s(float $x,float $y,float $z)\n",dd,name)
@f .printf ("{\n")
@f .printf ("sphere;\n")
@f .printf("scale %7.5f %7.5f %7.5f;\n",scale[0],scale[1],scale[2])
@f .printf("move $x $y $z;\n")
@f .printf("sets -e -forceElement %sSG;\n",color)
@f .printf ("}\n")
first_number = $sphere_object_count
ball.each do |v|
@f .printf ("make¥,d_%s (%7.5f,%7.5£,%7.5£) ;\n" ,dd,name,v[0],v[1],v[2])
$sphere_object_count += 1
end
end_number = $sphere_object_count
end
def stick(balll,ball2,color,scale) #IJ OO OO OO DOOstick OO
dd = $cylinder_proc_count
$cylinder_proc_count += 1
@f .printf ("global proc make_cylinder’d(float $x,float $y,float $z,float $len,float $yy,float
@f .printf ("{\n")
@f .printf ("cylinder;\n")
Of .printf("scale $len %7.5f %7.5f;\n",scale[1],scale[2])
@f .printf("move $x $y $z;\n")
@f .printf ("rotate 0 $yy $zz;\n")
@f .printf("sets -e -forceElement %sSG;\n",color)
@f .printf ("}\n")

len = bondlength(balll,ball2)*1.1
#len = 2.5 # spiral OO OO0
pair = Array.new
balll.each do |vi]|
ball2.each do |v2]|
tmp_vector = vl - v2
length = tmp_vector.r
if (O<length && length<len)then
if (tmp_vector [0]<0)then
tmp_vector = tmp_vector*-1
end
pair.push [tmp_vector, (v1+v2)*0.5]
end
end
end
pair.uniq!
pair.each do |v]|
ro = rotate_angle(v[0])
Qf .printf ("make_cylinder%d(%7.5f,%7.5£,%7.5¢,%7.5€,%7.5£,%7.5€) ;\n",
dd,v[11[0],v[1]1[1],v[1]1[2],(v[0].r)*0.5,ro[1],ro[2])
end
end

# 0000000
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def rotate_angle(vec)
# ex=Vector[1,0,0] 00 0O0Ovec 00000000 MexO yOOODO yyOOO=z0000 zz00000
OvecOOOOOMmM
x = vec[0]
y = vec[1]
z = vec[2]
len = vec.r
theta2 = -asin(z/len)
tmp = y/(len*cos(theta2))
if(-1.001<=tmp && tmp<-0.999)then
theta3 = -1.5707963267949
elsif (0.999<=tmp && tmp<1.001)then
theta3 = 1.5707963267949

else

theta3 = asin(tmp)
end
yy = theta2%180/PI

zz = theta3*180/PI
return [0,yy,zz]
end

def wireframe(p_vec,color)
d = $wire_frame_count
$wire_frame_count += 1
@f .printf ("global proc make_wireframejd(float $x,float $y,float $z,float $b2,float $a2,float
@f .printf ("{\n")
@f .printf ("cylinder;\n")
@f .printf("scale $sa 0.05 0.05;\n")
@f .printf ("move $x $y $z;\n")
@f .printf ("rotate 0 $b2 $a2;\n")
@f .printf("sets -e -forceElement %sSG;\n",color)
@f .printf ("}\n")

v = [p_vec.column(0), p_vec.column(l), p_vec.column(2)]
wire = [ Vector[0.0, 0.0, 0.0],
Vector [v[0] [0],v[0][1],v[0][2]],
Vector[v[1][0],v[1][1],v[1][2]],
Vector [v[2] [0],v([2] [1],v[2][2]],
Vector [v[0] [01+v[1][0],v[0] [1]1+v[11[1],v[0][2]1+v[1][2]1],
Vector [v[0] [0]+v[2] [0],v[0] [1]1+v[2] [1],v[0] [2]+v[2] [2]],
Vector [v[11 [0]+v[2] [0],v[1] [1]1+v[2][1],v[1][2]+v[2][2]],
Vector [v[0] [0]+v[1] [0]+v[2][0],v[0] [11+v[1][1]1+v[2][1],v[0] [2]+v[1][2]+v[2][2]]]

pair = [[0,1],[0,2],[0,3],[1,4],[1,5],[2,4],
(2,6]1,[3,5],[3,61,[4,7],[5,71,[6,7]]

pair.each do |al
v = (wire[a[0]]+wire[a[1]])*0.5
dir = wire[a[0]]-wire[a[1]]
if dir[0]<0 then dir = dir*(-1) end
ro = rotate_angle(dir)
len = (dir.r)*0.5
@f .printf ("make_wireframe’d(%7.5f,%7.5f,%7.5£,%7.5¢,%7.5£,%47.5£) ;\n" ,d,v[0],v[1],v[2] ,ro[1
end
end

$sa)\n",d)

l,ro[2],1len)

# 0000000
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def slider_sphere_scale(dataname)
d = $slider_sphere_scale_count
$slider_sphere_scale_count += 1
@f .printf ("global proc atom_scale_change’d()\n{\n",d)
Qatom.each do |labell
n = label + d.to_s
num = Qgroup[’sphere’].shift
@f .printf (" float $val’s;\n",n)
Qf .printf (" $valls = ‘floatSliderGrp -q -value radiusSlider’%s‘;\n",n,n)
@f .printf ("for($i=%d; $i<id;$i++)\n{\n",num[0] ,num(1])
@f .printf ("setAttr (\"nurbsSphere\"+$i+\".sx\") $val¥s;\n",n)
of .printf("setAttr (\"nurbsSphere\"+$i+\".sy\") $val¥s;\n",n)
@f .printf ("setAttr (\"nurbsSphere\"+$i+\".sz\") $valls;\n",n)
@f .printf ("}\n")
end
@f .printf ("}\n")
@f .printf ("window -title \"Atom Scale of %s\";\n",dataname)
@f .printf ("columnLayout;\n")
Of .printf ("text -label \"%s : change the scale of atoms.\";\n",dataname)
Qatom.each do |labell
n = label + d.to_s
@f .printf ("floatSliderGrp -label \"%s scale\" -field true\n",label)
@f .printf (" -min 0.0 -max 3.0 -step 0.01 -value 0.5 radiusSlider’s;\n",n)
end
@f .printf ("button -label \"OK\" -command \"atom_scale_change’d()\";\n",d)
@f .printf ("showWindow;\n")
end
$group_count = 0
def dislocation_cell(name)
$group_count += 1
con = ’select -r ’
name.each do |el
con += ’§’+e+’[0]
end

con = con[0..con.length-1]+";"
@f .printf ("%s\n",con)
@f .printf ("group;\n")

@f .printf ("string $gldname[];\n",$group_count)
@f .printf ("select -r group’%d;\n",$group_count)
Of .printf ("$glidname = ‘1ls -sl‘;\n",$group_count)
end
def dislocation_gui(n)
@f .printf("global proc dislocation()\n{\n")
@f .printf ("global string $giname[];\n")
@f .printf("global string $g2namel[];\n")
@f .printf ("float $val;\nint $i;\n")
@f .printf("$val = ‘floatSliderGrp -q -value radiusSlideri‘;\n")
@f .printf ("setAttr ($glname[0]+\".ry\") $val;\n")
@f .printf ("$val = $val * -1.0;\n")
@f .printf ("setAttr ($g2name[0]+\".ry\") $val;\n")
@f .printf ("for($i=2;$i<%d;$i++)\n{\n",n+1)
Qf .printf ("if ($val>30)\n{\n")

@f .printf ("setAttr (\"nurbsSphere\"+$i+\".sx\") 0;\n")
@f .printf ("setAttr (\"nurbsSphere\"+$i+\".sy\") 0;\n")
Of .printf ("setAttr (\"nurbsSphere\"+$i+\".sz\") 0;\n")

@f .printf ("}F\n}\n}*\n")

@f .printf ("window -title \"Dislocation\";\n")
@f .printf ("columnLayout;\n")
@f .printf ("text -label \"rotate\";\n")
@f .printf ("floatSliderGrp -label \"rotate\" -field true\n")
@f .printf (" -min 0.0 -max 360.0 -step 0.1 -value O radiusSlideri;\n")
@f .printf ("button -label \"OK\" -command \"dislocation()\";\n")
@f .printf ("showWindow;\n")
end
end
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